				Invoiced Unit Price	Perform	ance Food	Invoiced Unit Price			Invoiced Unit Price			Invoiced Unit Price			Invoiced Unit Price
RFQ #2011-34 FOOD ITEMS/SPECIFICATIONS & PRICING			Labatt	Inve		oup	Inve Pric	Premiu	m Foods	Inve	Na	rdone	Invoic Price	Schoe	nmann	Inve
# Description	Estimated Monthly Usage	Unit Price per Unit (Max. of 4 decimal places)	Monthly Cost	Price as Invoiced per unit/ Per Case/Pound/Package/Etc.	Price per Unit (Max. of 4 decimal places)	Monthly Cost	Price as Invoiced per unit/ Per Case/Pound/Package/Etc.	Price per Unit (Max. of 4 decimal places)	Monthly Cost	Price as Invoiced per unit/ Per Case/Pound/Package/Etc.	Price per Unit (Max. of 4 decimal places)	Monthly Cost	Price as Invoiced per unit/ Per Case/Pound/Package/Etc.	Price per Unit (Max. of 4 decimal places)	Monthly Cost	Price as Invoiced per unit/ Per Case/Pound/Package/Etc.
BEEF ENCHILADAS: FERNANDO, Pre-cooked, beef filling, 1.75 oz. each, without TVP products. 90 count per case. 13 cases per month.  Brand Name: Los Cabos Beef Enchiladas _(897-8687) Packaging: _144 / 2 oz	2048	0.102	9 \$210.69	\$29.64	0.1198	\$245.29	\$18.88		\$0.00			\$0.00			\$0.00	)
BREAKFAST BURRITO: FERNANDO, 48/5 oz. per case. Estimated monthly usage: 36 cases.  Brand Name:_Fernando's #10312 Breakfast Burrito (897-7607) Packaging:_60 / 5oz	8640	o.107	8 \$927.07	\$32.20		\$0.00			\$0.00			\$0.00			\$0.00	
CHEESE ENCHILADAS: FERNANDO, 90/1.625 oz. per case. Estimated monthly usage: 19 cases.  Brand Name: Fernando's #02202 Cheese Enchilada's (897-9135) Packaging: 90 / 1.625 oz	2779			\$20.42		\$0.00			\$0.00			\$0.00			\$0.00	
CHICKEN PATTIES, PRE-COOKED: Case pack of 100 each, 3.3 oz.Tyson Product #975. Estimated monthly usage: 36 cases. Brand Name: PROVIEW #50110_ Packaging: _53/3OZ 1/10#	11880		\$1,121.47	\$15.11	0.0990	\$1,176.12	\$31.92	0.0871	\$1,035.10	13.94		\$0.00			\$0.00	
BREADED COD PATTIES, PRE-COOKED, FISHERY #29756CN: Case pack of 40 each, 4 oz.Fishery Products #29756CN. Estimated monthly usage: 33 cases.  Brand Name:_Fish Prod(882-3346)	5280		3 <b>\$1,295.18</b>	\$39.25		\$0.00			\$0.00			\$0.00			\$0.00	)
FRANKS: DECKER #70511, Turkey, water, corn syrup, salt, dextrose, spice, flavoring, sodium phosphate, paprika, sodium erythorbate, sodium nitrate, garlic powder (10 franks per pound). Packaged ten (10) pounds to case. Estimated usage: 600 lbs.  Brand Name: _Carolina_10/1977278 Packaging:2/5#	600 6		\$645.00	\$10.75	1.0300	\$618.00	\$10.30	1.3200	\$792.00	13.2		\$0.00			\$0.00	

_					Lawson π	700=							
		CHARBROILED BEEF PATTIES: ADVANCE #155-525-0, Beef, water,											
		textured vegetable protein product (soy flour, caramel coloring, zinc oxide,											
		niacinamide, ferrous sulfate, copper gluconate, Vitamin A palmitate, calcium											
	7:	pantothenate, thiamine mononitrate (B1), pyridoxine hydrochloride (B6),											
	em	riboflavin (B2), ajanocobalamin (B12), seasoning: salt, monosodium glutamate,											
	Iţ	copper Pockage 00 to each 2.5 or Estimated monthly usage: 50 each											
		Brand Name:_Advance CN#155-525-0 (895-2186)	11250 Omuces										
		Packaging: 90 / 2.5 oz	i i i i i i i i i i i i i i i i i i i		<b>*****</b>	0.4440			0.4000	** ***		40.00	40.00
		rackaging90 / 2.3 0L	11250 0	0.1172	\$1,318.50 \$26.37	0.1210	\$1,361.25	27.25	0.1302	\$1,464.75	62.49	\$0.00	\$0.00
		SMOKED SAUSAGE: Fully cooked, heat-n-serve, soy protein concentrate											
		added. Pork, beef tongue trimmings, beef hearts, water, beef, soy protein											
	١ ا	concentrate, salt, corn syrup, dextrose, pepper, sodium tripolyphosphate, garlic											
	n 8	powder, monosodium glutamate, sodium erythorbate, sodium nitrate. Packaged											
	ten	ten (10) lb. case, five (5) each to one (1) pound. Estimated monthly usage: 70											
	П	cases.											
		Brand Name: _ <b>Eddy Packing-2110 5/1 (891-8800</b> )*	pu										
		Packaging:10 lb (50/3.2 oz)	700 A Dound	1.2730	\$891.10 \$12.73		\$0.00		1.2800	\$896.00	12.8	\$0.00	\$0.00
		BAR-B-QUE: TEXAS SIGNATURE FOOD #1254 Fully cooked, chopped			707-110 7-110		70100			4070100		7333	7 0 0 0
	<u>.</u> .	barbecued beef with sauce, textured vegetable protein product. Packaged five											
	n 9												
	[ter	Brand Name: Sadlars (805-0033)	pı										
		(5) pound tubs, four (4) tubs to a case. Estimated monthly usage: 14 cases.  Brand Name:_Sadlers (895-9033)  Packaging:_4/5 lb	280 Aonud	1.5000	\$420.00 \$30.00	1.6300	\$456.40	\$32.62	2.1900	\$613.20	43.8	\$0.00	\$0.00
	$\vdash$	BOLOGNA: Oscar Mayer, U.S.D.A. inspected, cooked, beef, smoked, I.M.P.S.	200 д	1.5000	\$420.00 \$50.00	1.0300	\$430.40	\$52.02	2.1900	\$015.20	43.6	\$0.00	\$0.00
	_	#801 Formula A1, natural color, 2/5.5 pounds. Estimated monthly usage: 600											
		pounds.	اح										
		Brand Name:_ <b>Farmland</b> (898-2100)	Pound Pound										
		Packaging:_1/10 lb	600 ℃	2.2800	\$1,368.00 \$2.28	2.6600	\$1,596.00	\$2.66	2.5700	\$1,542.00	2.57	\$0.00	\$0.00
		CHICKEN LEG QUARTERS: Tyson or Pilgrims Pride, Raw, four (4) 10 lb.											
		bags per case. Estimated monthly usage: 120 cases. 1 lb. per leg quarter. NO											
	em	SUBSTITUTES	pui										
	H	Brand Name:_Pilgrims #944574	4800 A	1.4815	\$7,111.20 \$50.00	0.5900	\$2,832.00	\$23.60		\$0.00		\$0.00	\$0.00
	ſ	SHOULDER CLODS: Tyson/IBP or Excell (See Enclosure #1, page 2, Name								·			
		Brand), 1/65# Average.											
		Brand Name: <u>IBP/Packer</u>	pı										
		Packaging:1/65lb918352	455 Quantum 455	2.5000	¢1 127 50 ¢2 50	2 2000	¢1 001 00	¢2.20	2 2000	¢1 002 00	2 20	\$0.00	\$0.00
		HAMBURGER MEAT: USDA Extra Lean Ground beef, 81% lean, 19% fat,	455 മ്	2.5000	\$1,137.50 \$2.50	2.2000	\$1,001.00	\$2.20	2.3800	\$1,082.90	2.38	\$0.00	\$0.00
	13	bone free. Packaged six (6) 10 lb. packages per case. Estimated monthly usage:											
	am	4320 lbs	ਜ										
	Iţ	Brand Name:_Swift (894-3557)	4320 A Ponnod										
		Packaging:_8 / 5 lb	4320 🔓	1.7300	\$7,473.60 \$1.73	2.1200	\$9,158.40	\$2.12	2.2800	\$9,849.60	2.28	\$0.00	\$0.00

	SEASONING BACON ENDS AND PIECES: Tyson or Wrights, Cured with													
4	water, salt, sugar, sodium phosphates, sodium erythorbate, sodium nitrite.													
Item	Packaged 10 lb. box. Estimated monthly usage: 59 boxes.													
Ite	Brand Name:_Dankworth (540-7106)	pur												
	Packaging: _1 / 10 lb	590 Pound	1.0600	\$625.40	\$1.06		\$0.00		1.5800	\$932.20	15.8	\$0.00	\$0.0	00
	-BREADED STEAK FINGERS: Advance #CN 14-16, Manufactured by													
15.	Advance, 0.97 oz., 10 lb. per case. Estimated monthly usage: 12 cases.													
LH-	Brand Name:_Advance (895-1352)	pu												
1 1	Packaging: _160 / .97 oz	180 Pound	1.6980	\$305.64	\$16.98	1.8500	\$333.00	\$17.95	2.6800	\$482.40	80.4	\$0.00	\$0.0	00
	HAM: Club ham, fully cooked, approximate 2/12 lb rolls per case. Estimated	100 д	2,0,00	4000101	42000	1.02.00	φεεε.σσ	Ψ17170	2.0000	ψ.ισ <b>2.</b> ι.σ		Ψ0.00	40.0	,,,
16:	monthly usage: 7 cases.													
Item		pu												
Ite	Packaging: _2 / 13 lb	Pound Pound	1.6200	\$272.16	\$1.62	1 8600	\$312.48	\$1.86	1.8900	\$317.52	1.89	\$0.00	\$0.0	00
ats —	MEATLOAF, CHARBROILED: Advance, 75% ground beef (not more than 30% fat),	100 Д	1.0200	φ2/2.10	φ1.02	1.0000	φ312.40	φ1.00	1.0500	φ511.52	1.09	φυ.υυ	\$0.0	70
Section I Frozen Meats Item 17:	water, vegetable protein product, salt, dehydrated onions, bread crumbs, dextrose,													
u.	monosodium glutamate, tomato powder, green and red bell peppers, spices, non-fat dry													
0Z6	milk. This 3.5 oz. cooked portion provides 2.25 oz. equivalent cooked meat/meat alternate													
I Fr	for the child nutrition meal pattern c/n requirements. Case pack 70 each 3.60 oz. Estimated													
I u		SS												
ţi,	Brand Name: ADVANCE #562320_	ınce												
Se	Packaging: _76/3.15	12600 0	0.1297	\$1,634.22	\$31.06		\$0.00		0.1211	\$1,525.86	29	\$0.00	\$0.0	00
	SAUSAGE PATTIES, Wampler or Cherokee #CB800160, pre-cooked: Frozen.													
8	Case pack of 160, one (1) oz. each. Estimated monthly usage:	S												
Item	Brand Name:Good Source242691	nce												
	Packaging:480/1 oz	18560	0.1688	\$3,132.93	\$27.00	0.1200	\$2,227.20	\$57.60		\$0.00		\$0.00	\$0.0	00
	SMOKIE LINKS SAUSAGE: Brenham Smoked Sausage #50088000, Breakfast													
	sausage, fully cooked heat-n- serve, pork and beef, water, salt, corn syrup,													
1   61	pepper, sodium tripolyphosphate, garlic powder, monosodium glutamate, sodium													
Item	erythorbate, sodium nitrate. Packaged 160 each, one (1) oz. Estimated monthly	Si Si												
	usage: 81 cases.	nces												
	Brand Name: _Eddy Packing (891-4996)	12960 중	0.1283	\$1,662.77	\$20.52		\$0.00		0.1312	\$1,700.35	21	\$0.00	\$0.0	00
	PEPPERONI PIZZA: 96 pack 4.87oz,4"x 6"pizza per case. Schwans or Tonys													
20.0	#63616. Estimated monthly usage: 78 cases													
Item	Brand Name: _Nardone's(890-2150)	ces												
<u> </u>	Packaging: _96/5 oz	36467	0.0858	\$3,128.83	\$41.20		\$0.00			\$0.00		0.1000 \$3,646.66	\$48.00/cs \$0.0	00
	DICED CHICKEN MEAT ½": 1/10 lb. per case. Tyson #3138			. ,			,					12,222		
2.1	Brand Name:PREMIUM Packaging: 1/10													
Item		340 Ponnd												
1 1 =		340 년	2.6090	\$887.06	\$26.09	2.7500	\$935.00	\$27.50	1.9300	\$656.20	19.3	\$0.00	\$0.0	00

	PORK AND VEGETABLE EGG ROLL: Minh #69349 CN 60/4.2 oz. per case.									
8	Estimated monthly usage: 27 cases.	8								
	Brand Name:_Minh #69349 (899-0103)	ce								
'	Packaging:_60 / 4.4 oz	6804 Onuces	0.1559	\$1,060.74 \$41.16	0.1569	\$1,067.55	\$41.42	\$0.00	\$0.00	\$0.00
	BACON: 30 lbs. per case. 14-18" slice size. Wright's. Estimated monthly									
8	usage: 13 cases.									
	Brand Name:Wright	pu								
	Packaging:1/30940841	390 Pound	2.1800	\$850.20 \$65.40	2.1000	\$819.00	\$63.00	3.2900 \$1,283.10 32.9	\$0.00	\$0.00
	PORK CHOPS: 27/6 oz cuts. Hormel Center Cut. Estimated monthly usage:									
	33 cases.	×								
	Brand Name:_PREMIUM	nces								
,	Packaging:27/6OZ 10#	5346	0.2581	\$1,379.80 \$4.13		\$0.00		0.1518 \$811.52 24.29	\$0.00	\$0.00
	COOL WHIP: 14 oz container. 12 per case. Hytop. Estimated monthly usage: 8 cases.									
	NO AEROSOL CANS	ınces								
	Brand Name:Cool Whip_(931-0715) Packaging:12/16 oz	luc								
		1344 5	0.1627	\$218.67 \$31.23		\$0.00		\$0.00	\$0.00	\$0.00
	PECAN PIECES: 5 lb box. Estimated monthly usage: 9 cases.									
	Brand Name:_Vending (441-0008)	45 Aonud								
,	Packaging:_1 / 5 lb	45 g	7.8500	\$353.25 \$39.25		\$0.00		\$0.00	\$0.00	\$0.00
l I.	TOM TURKEY: Raw, Grade A Toms. Two (2) Toms per case. Estimated									
	monthly usage: 4 cases.									
	Brand Name:_Packer (881-7793)	ch	22.4000							
	Packaging:_2 / 20-22 lb	8 E	22.4000	\$179.20 \$1.12		\$0.00		25.0000 \$200.00 1.25	\$0.00	\$0.00
	FOSTER CHICKEN CORN DOGS: 72/4 oz in a case. Estimated monthly									
	usage: 12 cases.	×.								
	Brand Name:_Foster Farms (888-4000)	nce								
,	Packaging:_ <b>72/ 4 oz</b>	3456	0.0829	\$286.50 \$23.87		\$0.00		\$0.00	\$0.00	\$0.00

	GEORGES/QTF BREADED PORK PATTIES: 40/ 3.75 oz in a case.										
00	, E	S									
2	Brand Name:_Advance CN#46-40 (892-7410)	nce									
1	Packaging: _40 / 3.75 oz	1200 Onuces	0.0967	\$116.04 \$14.51	0.1170	\$140.40	\$17.55	\$0.00	\$0.00	\$0.00	
	EDDY SAUSAGE MORNING ROLL SWEET: 80/2oz. Estimated monthly										
30.	usage: 8 cases.										
8	Brand Name:_Le Chi (891-4557)	ces									
ř	Packaging:_ <b>80/2oz</b>	onuces O	0.1534	\$196.35 \$24.55		\$0.00		0.1606 \$205.57	25.7 \$0.00	\$0.00	
	PORK SAUSAGE PATTIE: 1.5 oz each. 10 lb/case. Estimated monthly usage:										
7	8 cases.										
5	Brand Name:_Advance(892-5456)	puı									
1 1	Packaging:_107_/ 1.5 oz	120 A	2.0937	\$251.24 \$21.00	2.3260	\$279.12	\$27.91	2.3750 \$285.00	23.75 \$0.00	\$0.00	
	FERNANDO BURRITO BEEF BEAN & RED CN: 5.75 oz each. 60/case.			_							
23	Estimated monthly usage: 10 cases.										
1 5	Brand Name:_ <b>Fernando's</b> ( <b>897-7706</b> )	ıce									
Ļ	Packaging:60/5.75 oz	onno 3450	0.1090	\$376.05 \$37.60	0.1231	\$424.70	\$42.50	\$0.00	\$0.00	\$0.00	
	CHICKEN NUGGET PATTIE FRITTER: 200/.8oz. Estimated monthly usage:				'						
23.	10 cases.										
1 2	Brand Name:_Tyson 267622	ces									
<u> </u>	Packaging: 250/.64	Onnces	0.0856	\$136.96 \$13.70	0.0803	\$128.48	12.85	0.0931 \$148.96	14.9 \$0.00	\$0.00	
	FROZEN SCRAMBLED BLND EGGS: 6/5 lb. Estimated monthly usage: 10	1000 0	0.0050	Ψ130.90 Ψ13.70	0.0002	Ψ120.40	12.00	0.0931 \$140.90	Ψ0.00	\$0.00	
2											
1	Brand Name:_ Rembrandt	pg .									
1	Packaging:6/5#279824	300 Pound	1.3000	\$390.00 \$39.00	1.0000	\$300.00	\$30.00	\$0.00	\$0.00	\$0.00	
	TURKEY BREAKFAST SAUSAGE LINKS: 192/1 oz Estimated monthly	300 д	1.3000	\$390.00 \$39.00	1.0000	\$300.00	φ30.00	\$0.00	φυ.υυ	\$0.00	
25.	usage: 5 cases.										
٤	Brand Name:_BUTTERBALL #30676_	ses									
1	Packaging:10#	Onnces	0.1847	\$177.31 \$35.47		\$0.00		0.1650 \$158.40	<b>26.4</b> \$0.00	\$0.00	
	CATFISH FILLET BREADED: 4 oz each/10 lb box. Estimated monthly usage:	900 🔾	0.1047	φ1//.31 φ33.4/		\$0.00		0.1030 \$130.40	<b>20.4</b> \$0.00	\$0.00	
36.	10 boxes.										
	Brand Name:Americas Catch 066954										
1	Packaging:40/40z10#	400 Each	1.0750	Φ <b>5</b> 10 00 Φ <b>5</b> 1 00	1 1150	<b>4446.00</b>	<b>444.60</b>	фо оо	ФО ОО	фо оо	
	TATER TOTS (GEMS): Frozen, potatoes, partially hydrogenated vegetable oil,	400 道	1.2750	\$510.00 \$51.00	1.1170	\$446.80	\$44.69	\$0.00	\$0.00	\$0.00	
	salt, ascorbic acid, extrose, sodium acid pyrophosphate added to preserve natural										
<u> -</u>	color. Packaged six (6) five (5) pound bags, thirty (30) pounds to case.										
1	Estimated monthly usage: 30 cases.										
1	Brand Name: _Simplot(905-0576)	р									
	Packaging: _6/5 lb	900 Pound	0.5310	\$460 OO \$15.63		ΦΩ ΩΩ		Φ0.00	Φ0.00	\$0.00	
	1 ackagingv/3 iv	900 2	0.5210	\$468.90 \$15.63		\$0.00		\$0.00	\$0.00	\$0.00	

PRE-COOKED GOLDEN PATTIES (SHREDDED HASH BROWN													
POTATOES) FROZEN: Simplot #101 or Lamb Weston G-53, Potatoes,													
vegetable oil shortening (contains palm oil or partially hydrogenated soybean													
oil), salt, natural flavoring, dehydrated onions, dextrose, disodium dihydrogen													
pyrophosphate (to retain natural color). Packaged 214 to case. Pre-cooked. 2.25													
oz. each. Estimated monthly usage: 23 cases.													
Brand Name: _Simplot_#101(902-0074)	pu												
Packaging: _6/5 lb	690 Pound	0.6517	\$449.67	\$19.55		\$0.00			\$0.00		\$0.00		\$0.00
CUT BROCCOLI: Frozen. Twelve (12) 2.5 pound per case. Estimated monthly		_	,	_		,			,				
ÿ usage: 18 cases.													
Brand Name: _Garden Fresh(909-0334)	l pu												
Dealersing. 12/2.5 lb	540 Junod	0.6060	\$327.24	\$18.18		\$0.00			\$0.00		\$0.00		\$0.00
SQUASH, SLICED: Frozen. Twelve (12) 3 pound packages per case. Estimated		0.0000	ψ527.24	Ψ10.10		ψ0.00			φ0.00	L	ψ0.00		ψ0.00
monthly usage: 18 cases.													
Brand Name: FINELINE Packaging:	pun												
SQUASH, SLICED: Frozen. Twelve (12) 3 pound packages per case. Estimated monthly usage: 18 cases.  Brand Name: FINELINE Packaging:  12/3  STEAK-CUT FRIES: Frozen, Simplot or Lamb Wesson. Six (6) 5lb packages	648 di punod	0.8289	\$537.13	\$29.84		\$0.00		0.7400	\$479.52	26.64	\$0.00		\$0.00
STEAK-CUT FRIES: Frozen, Simplot or Lamb Wesson. Six (6) 5lb packages			<u> </u>										
per case. Estimated monthly usage: 43 cases.													
	pu												
Packaging: _6/5 lb	1290 A	0.4980	\$642.42	\$14.94		\$0.00			\$0.00		\$0.00		\$0.00
OKRA: sliced. 20 lb box. Frosty Acres (non breaded). Estimated monthly								<u> </u>					
usage: 4 cases.													
Brand Name:FIENLINE	pui												
Packaging: 1/.20	80 Pound	0.7265	\$58.12	\$14.53	1.0500	\$84.00	\$21.00	0.6900	\$55.20	13.8	\$0.00		\$0.00
: SWEET PEAS: Peas. Estimated monthly usage: 800 pounds.						·	-			-			
	pu												
Brand Name: FIENLINE-GREEN PEAS Packaging:1/20	800 Pound	0.7495	\$599.60	\$14 99	0.6700	\$536.00	\$20.10	0.5800	\$464.00	11.6	\$0.00		\$0.00
CARROTTS: Sliced Carrots. Estimated monthly usage: 1200 pounds.	000 1	0.7 195	φ277.00	ΨΙΙΙΟ	0.0700	ψ330.00	Ψ20.10	0.2000	φισιισσ	1110	ψ0.00		 ψο.σσ
1 1 2 1	٩												
Brand Name: _Chill Ripe #878896 Packaging:1/30#	1200 Punod	0 = = = 0	<b>*</b> 0			4.5.4.00	<b>4. .</b>			40.4	***		40.00
	1200 🚊	0.5560	\$667.20	\$11.12	0.5200	\$624.00	\$15.60	0.5300	\$636.00	10.6	\$0.00		 \$0.00
GREEN BEANS: Cutt Grean Beans. Estimated monthly usage: 800 pounds.													
Brand Name:Chill Ripe #259981	800 Pound												
& &	800 💆	0.7495	\$599.60	\$14.99	0.6100	\$488.00	\$30.50	0.5900	\$472.00	11.8	\$0.00	)	\$0.00
Ö CORN: Whole Kernel Corn. Estimated monthly usage: 800 pounds.													
Brand Name: _FINELINE_	pur												
Packaging: _1/20	800 Pound	0.7170	\$573.60	\$14.34	0.5900	\$472.00	\$17.70	0.5900	\$472.00	11.8	\$0.00		\$0.00
MIXED VEGETABLES: Mixed Vegetables to include: carrots, peas, lima													
beans, green beans, and whole kernel corn. Estimated monthly usage: 1200													
Bounds.  Brand Name: FINELINE	pı												
Brand Name: _FINELINE	1200 A	0.7385	\$886.20	\$14.77		\$0.00		0.6770	\$812.40	13.54	\$0.00		\$0.00
	1200 🕰	0.7383	φοδ0.20	\$14.//		\$0.00		0.0770	<b>ФО12.40</b>	13.34	\$0.00	'	 Φ0.00

	FROZEN BISCUITS: 24/7.5oz. Hytop Buttermilk or Homestyle Bisquits.										
uts	Brand Name: Merico965110 Packaging:24/10ct	Ses									
Section III Frozen Breakfast/Breads/Donuts	Packaging:24/10ct	11700	0.0579	\$677.43	\$9.73	0.0533	\$623.61	\$9.59	\$0.00	\$0.00	\$0.00
ls/L	FLOUR TORTILLAS: Frozen, flour, water, all vegetable shortening, margarine,		010017	40.,,,,	47110		7	42.02	7,000	7 0 0 0	7000
ead	whey, baking powder, salt, 6 inch size. Packed 18 packages of 24 count toritillas										
Br	(1)										
ast/	per case. Rodriquez #265.  Brand Name: _Juarez(897-1500)										
ıkf	Packaging:18/ 20 CT	Each 2344	0.0458	\$226.26	¢16 50	0.0490	\$352.51	¢22.04	00.00	\$0.00	\$0.00
res	MRS BUTTERWORTHS WAFFLE SQ JUMBO: 144/1.27 oz. Estimated	7344 🖺	0.0458	\$336.36	\$10.50	0.0480	\$332.31	\$23.04	\$0.00	\$0.00	\$0.00
n B	monthly usage: 5 cases.										
oze	Brand Name: _Mrs. Butterworth(933-0011)	ses									
Fr	Packaging: _144/ 1.27 oz	726.4 Onuces	0.0505	<b>450.00</b>	<b>442.45</b>		40.00		40.00	40.00	40.00
III		726.4 0	0.0735	\$53.39	\$13.45		\$0.00		\$0.00	\$0.00	\$0.00
on .	MRS BUTTERWORTHS FRENCH TOAST THIN SLCD: 8/CT. 18 CT PER										
cti	CASE. Estimated monthly usage: 5 cases.										
Se	Brand Name: _Mrs. Butterworth(933-0012)	720 Each									
	Packaging: _144/ 1.5 oz	720 🛱	0.1060	\$76.32	\$22.90		\$0.00		\$0.00	\$0.00	\$0.00
ice	FROZEN JUICES: Apple, Vita Fresh Item #02403, fortified with vitamin C.										
Ju	Packaged 96/4 oz. containers per case.										
<u>zen</u>	Brand Name: _Suncup Carton(006-0303)	ų									
roz	Packaging: _70/4 oz	8460 Each	0.1069	\$904.37	\$7.48		\$0.00		\$0.00	\$0.00	\$0.00
Section IV Frozen Juices	FROZEN JUICES: Orange, Vita Fresh Item#02401, fortified with vitamin C.				_						
n I	Packaged 96/4 oz. containers per case.										
tio	Brand Name: _Suncup Carton(006-0301)	ч									
Sec	Packaging: _70/4 oz	8460 Each	0.1341	\$1,134.49	\$9.39		\$0.00		\$0.00	\$0.00	\$0.00
	PUNCH FLAVOR DRINK MIX: Instant, sugar sweetened, vitamin C added,			, ,	• • • • • • • • • • • • • • • • • • • •		,			, , , , ,	
	12/10 ounces packs per case, Kool-Aide brand or equivalent. Estimated monthly										
ses	usage: 15 cases Brand Name: _Twist(126-7545)	Š									
Mis	Packaging: _12/2 gal	ase	15.6100	\$234.15	\$15.61		\$0.00		\$0.00	\$0.00	\$0.00
Section V Drink Mixes	LEMONADE FLAVOR DRINK MIX: Instant, sugar sweetened, Vitamin C	13 0	13.0100	φ234.13	φ13.01		φυ.υυ		\$0.00	\$0.00	\$0.00
rii (	added, 12/10 ounces packs per case, Kool-Aide brand or equivalent. Estimated										
VI	E monthly usage: 37 cases.										
on ,	Brand Name: _Twist(128-4578)	×									
cti	Packaging: _12/2 gal	ase	16.1800	\$598.66	¢16 10		\$0.00		\$0.00	\$0.00	\$0.00
Se	TEA: Packaged 96 1 oz. bags. Estimated monthly usage: 22 cases.	31 0	10.1900	90.00	\$10.18		\$0.00		\$0.00	\$0.00	\$0.00
	(1)										
	Brand Name:Mt. Sterling Packaging:96/1 oz	ases	4.000-			1.0000	****	449.05	40.00	****	40.05
	- 1 ackaging70/1 02	22 S	13.3000	\$292.60	\$13.30	12.0000	\$264.00	\$12.00	\$0.00	\$0.00	\$0.00

	CEREAL: Fruit Loops or equivalent 96/.75oz, sweetened, individual bowl pack.										
-	Estimated monthly usage: 45 cases.										
	Brand Name:Hospitality		ų								
1	Packaging:96/ct	4320	Ба О.2323	\$1,003.54	\$22.30	0.2200	\$950.40	21.12	\$0.00	\$0.00	\$0.00

					110011	/						
	CEREAL: Frosted flakes or equivalent 96/1 oz, sweetened, individual bowl											
eal	pack. Estimated monthly usage: 89 cases.											
ĕ	Brand Name: _Hospitality	ch										
Section VI Cereal	Packaging:96/1 oz	8544 B	0.2323	\$1,984.77	\$22.30	0.2200	\$1,879.68	21.12	\$0.00	\$0.00	\$0.00	
l l	CEREAL: Rice Krispies or equivalent 96/.75 oz, sweetened, individual bowl			. ,			• /	_				
tio	pack. Estimated monthly usage: 41 cases.											
Şec	Brand Name: _Hospitality	J										
1	Packaging:96/ct	Each (9968)	0.2323	\$922.00	\$22.20	0.2200	\$873.18	21.12	\$0.00	\$0.00	\$0.00	
	CEREAL: Apple Jacks or equivalent 96/1 oz., sweetened, individual bowl pack.	3909 Щ	0.2323	\$922.00	\$22.30	0.2200	ф0/3.10	21,12	\$0.00	\$0.00	\$0.00	
	Estimated monthly years 40 asses											
,	Brand Name:Hospitality	даср Наср	0.0000	<b>#</b> 00 <b>2</b> 02	Ф22.20	0.0000	404400	24.42	40.00	40.00	<b>.</b>	
	Packaging:96/ct	3840 👸	0.2323	\$892.03	\$22.30	0.2200	\$844.80	21.12	\$0.00	\$0.00	\$0.00	
	CHOCOLATE CHIP COOKIES: Uniformly baked, color and taste suitable to											
	type, broken cookies should not be over 5% of the total, enriched flour, Nabisco											
	or equivalent, 12/12 oz. per case. Estimated monthly usage: 65 cases.	S										
,	Brand Name: <u>Keebler (378-0000)</u>	nce										
	Packaging:1/10 lb	9360 <b>5</b>	0.1097	\$1,026.79	\$17.55	0.1100	\$1,029.60	\$18.40	\$0.00	\$0.00	\$0.00	
	OATMEAL COOKIES: Uniformly baked, color and taste suitable to type,											
	broken cookies should not be over 5% of the total, enriched flour, Nabisco or											
	equivalent, 12/12 oz. per case. Estimated monthly usage: 65 cases.											
11,	equivalent, 12/12 oz. per case. Estimated monthly usage: 65 cases.  Brand Name:Keebler(378-2020)	ses										
	Packaging: _1/10 lb	9360 Onuces	0.0963	\$901.37	¢15 /1	0.1000	\$936.00	\$16.80	\$0.00	\$0.00	\$0.00	
	VANILLA WAFER COOKIES (6/13.3 oz per case): Enriched wheat flour	9300 0	0.0903	φ901.37	ф13.41	0.1000	\$930.00	\$10.60	\$0.00	\$0.00	\$0.00	
	(contains niacin, reduced iron, thiamine mononitrate (Vit B1), Riboflavin (Vit											
	B2) sugar, animal or vegetable shortening (lard or partially hydrogenated											
	soybean oil and hydrogenated cottonseed oil), cornsyrup, whey, butter, eggs, leavening, salt, vanilla extract and artificial flavor. Estimated monthly usage: 15											
,												
	cases.	nces										
	Brand Name:Keebler(378-7777)	1197	0.10.40	<b>\$124.40</b>	φο 30	0.1100	A101 67	017.60	Φ0.00	Φ0.00	фо оо	
	Packaging: 6/13.3 oz	119/ 0	0.1040	\$124.49	\$8.30	0.1100	\$131.67	\$17.60	\$0.00	\$0.00	\$0.00	
	SALTINE CRACKERS: Individual Packets. 500 each 2/packs to a case.											
	Estimated monthly usage: 13 cases.											
	Brand Name: _Sunshine_(374-1808)	ch										
Š	Packaging:500/ 2ct	6500 🛱	0.0231	\$150.15	\$11.55	0.0259	\$168.35	\$12.95	\$0.00	\$0.00	\$0.00	
okie/Crackers	CHOCOLATE CHIP COOKIES 100 CALORIE, CHIPAHOY: 72/.75 oz											
ac.	Estimated monthly usage: 4 cases.											
/Cr	Brand Name: Nabisco (376-0604)	S										
kie	Packaging:72/ .81 oz	ase	27.1800	¢100.73	φ <b>27.1</b> 0		¢0.00		\$0.00	00.00	\$0.00	
0		4 O	27.1800	\$108.72	\$47.18		\$0.00		\$0.00	\$0.00	\$0.00	

				Lawsun π	,							 
ರ	CHOCOLATE CHIP COOKIES, BIG: Grandma's or equivalent, 60/2.75 oz. per											
IL	ö case. Estimated monthly usage: 4 cases.											
Section VII	Brand Name: <u>Grandma's (380-2527)</u>											
Į.į	Packaging: _ (60/ 2.5 oz)	ses										
şct	Packaging: _ (60/ 2.5 oz)	4 c	14.7700	\$59.08 \$14.77		\$0.00			\$0.00		\$0.00	\$0.00
Š	CHOCOLATE CHIP COOKIES, BITE SIZE, CHIPAHOY: 60/2 oz per case.			_								·
	Estimated monthly usage: 4 cases.											
	Brand Name: Famous Amos (378-1200)	SS										
	Packaging:60/ 2 oz	ase	19.0400	Φ <b>7</b> (1( Φ10.04		¢0.00			¢0.00		¢0.00	\$0.00
		4 0	19.0400	\$76.16 \$19.04		\$0.00			\$0.00		\$0.00	\$0.00
	OATMEAL RAISIN COOKIES, BIG: Grandma's or equivalent, 60/2.75. per											
	Brand Name: Grandma's (380-2550) Packaging: 60/2-5 oz											
	Packaging:	ses										
	1 dokuging00/210 02	Cases	14.7700	\$59.08 \$14.77		\$0.00			\$0.00		\$0.00	\$0.00
	OREO MINI COOKIES: OREO or equal. 48/1.25 oz per case. Estimated	Ĭ									, , , ,	
	monthly usage: 4 cases.											
	Hondiny usage. 4 cases.											
	Brand Name: <u>Nabisco (380-8599)</u>	es	20.1800									
	Packaging:48/ 1 oz	4 c	20.1800	\$80.72 \$20.18		\$0.00			\$0.00		\$0.00	\$0.00
	VANILLA WAFER MINI COOKIES: Bake CRF or equal. 100/1.1 oz per case.		20.1000	φουιίο_		φο.σσ			ψ0.00		ψ0.00	Ψ0.00
	Estimated monthly usage: 4 cases.											
	Brand Name: Nabisco (378-6549) Packaging: 72/1 oz	es										
	Packaging:72/1 oz	as	19.5800	\$78.32 \$19.58		\$0.00			\$0.00		\$0.00	\$0.00
	CRACKER. CHEESE ON CHEESE: Austin or equal. 120/4 ct per case.	<del>-</del> -	17.5000	Ψ10.52 Ψ17.50		\$0.00			ψ0.00		\$0.00	\$0.00
	1											
	Estimated monthly usage: 4 cases.											
	Brand Name: Austin (377-0412) Packaging: 192/4 ct ***Note pack size***	S										
	Packaging:***Note pack size***	Case	25.3600	\$101.44 \$25.36		\$0.00			\$0.00		\$0.00	\$0.00
	AND CALCON CONTROL OF THE CALCON CONTROL OF	4 0	25.3000	\$101.44 \$25.50		\$0.00			\$0.00		\$0.00	\$0.00
	ANIMAL CRACKERS: 2 oz packs. Estimated monthly usage: 4 cases.											
	Brand Name: Austin QTL (373-0553)	S										
	Packaging:100/ 1 oz	asc	13.7600	\$55.04 \$13.76		\$0.00			\$0.00		\$0.00	\$0.00
		4 0	13.7000	φ33.04 φ13./0		\$0.00			φυ.υυ		\$0.00	φυ.υυ
	MARGARINE: Pure Vegetable, water, salt, partially hydrogenated soybean and											
	cottonseed oils, dry whey, lecithin, sodium benzoate and citric acid added as											
يو	preservatives, artificial color, Vit A added, artificial flavoring. Packaged one (1)											
ĿË	pound, thirty (30) to a case. Estimated monthly usage: 33 cases.											
ga	Brand Name:Ventura (814-5623)	pu										
ar	Packaging:30/1 lb	990 Pound	0.7217	\$724.20 \$21.05	0.7063	¢700.24	¢22.00	0.0000	0071 30	26.4	ΦΩ ΩΩ	\$0.00
ion VIII Eggs/Margarine	GVERGE DUI 10	990 &	0.7317	\$724.38 \$21.95	0.7963	\$788.34	\$23.89	0.8800	\$871.20	26.4	\$0.00	\$0.00
Š	CHEESE: Ribbon slice, American processed, color yellow orange, U.S. Grade											
됬	A, 6/5 pound containers per case. Estimated monthly usage: 25 cases.											
	Brand Name: _Schreiber (866-5648)											
$\triangleright$	Packaging:4/5 lb	puı	2.3320									
on		750   큔	2,3320	\$1,749.00 \$46.64	2.4000	\$1,800.00	\$48.00	2.5900 \$1	1.942.50	51.8	\$0.00	\$0.00
•=		H		, -, γ • • • • •		,- 30.00	T	, σσ φ1	,	0	Ψ0.00	+ - • • •

EGGS: Grade A, medium, fifteen (15) dozen to a carton. Estimated monthly													
g usage. 33 cases.	n n												
Erand Name: _Cal Maine_ (816-5102)	Dozen	1.02/7	\$0.00	¢15 40	1.0520	¢0.00	¢15 00		¢0.00		Φ.		¢0.00
Packaging: 1/15 doz	Ω	1.0267	\$0.00	\$15.40	1.0530	\$0.00	\$15.80		\$0.00		•	0.00	\$0.00
PEPPER: Medium grind, black. Pepper to be packaged in 1/16oz(11b)													
containers. Estimated monthly usage: 35 pounds.  Brand Name: Gulfpcfc	٦												
1 1,5	ď	3.7576											
Packaging:1/25#	35 💆	3.7576	\$131.52	\$15.97	3.7500	\$131.25	\$93.75		\$0.00		\$	0.00	\$0.00
SALT: Iodized, table. Salt to be packaged in 25 lb. containers. Estimated													
monthly usage: 9 cases.													
Brand Name:United Salt(631-3043)	pur												
Packaging:1/25 lb	225 Puno Bonne	0.1480	\$33.30	\$3.70	0.1500	\$33.75	\$7.50		\$0.00		\$	0.00	\$0.00
SUGAR: Pure cane, granulated, white, refined, packaged in multi-wall paper						,							
bag. Fifty (50) pound bag. Estimated monthly usage: 22 bags.													
Brand Name:Packer#915532	puı												
Packaging:1/50#	1100 Pound	0.7078	\$778.58	\$35.39	0.6040	\$664.40	\$30.20		\$0.00		\$	0.00	\$0.00
POWDERED SUGAR: Powdered, confectioners, packaged in 50 pound bag.							_						
7 Estimated monthly usego: 4 hogs													
Brand Name:Imperial #909627	lnd												
Packaging: 1/50#	200 Puno 200 Juno	0.7720	\$154.40	\$38.60	0.7500	\$150.00	\$37.50		\$0.00		\$	0.00	\$0.00
BROWN SUGAR: Brown sugar, light or medium, packaged in 50 pound bag.			,				•						·
G Estimated monthly usego: 2 hogs													
Brand Name:Imperial #908876	pui												
Packaging: 1/50#	punod 150 d	0.7720	\$115.80	\$38.60	0.7500	\$112.50	\$37.50		\$0.00		\$	0.00	\$0.00
VINEGAR: White, distilled, plastic container, 4% acetic acid. Packaged six													
(6), one (1) gallon containers to a case. Estimated monthly usage: 2 cases.													
Brand Name: West Creek273739	ons												
Packaging:4/1 ga	Sallons 12	1.5450	\$18.54	\$0.27	1.5400	\$18.48	\$6.16		\$0.00		•	0.00	\$0.00
GARLIC POWDER: 1/22 oz. container. Estimated monthly usage: 14 each.			\$16.54	\$9.27	1.5400	ф10.40	\$0.10		\$0.00		Ф	7.00	\$0.00
	308 Onnces												
Brand Name:Emporium(618-4117) Packaging:1/1.25 lb	an Di	0.4=00	<b>*==</b> = =	4- 40		**		0	***				40.00
	308 💍	0.1700	\$52.36	\$3.40		\$0.00		0.2712	\$83.53	4.34	\$	0.00	\$0.00
GRANULATED GARLIC: 1/22 oz. container. Estimated monthly usage: 80													
g each.	ses												
	onuces 1760	0.2050	Φ502.10	Φ25.16	0.2200	φ <b>205.20</b>	φ <b>1= c</b> 0	0.2660	<b>0.4.60.5</b> 7	4.07			Φ0.00
Packaging: 1/5#	1760 0	0.2859	\$503.18	\$25.16	0.2200	\$387.20	\$17.60	0.2668	\$469.57	4.27	\$	0.00	\$0.00
OREGANO: Packaged in a 12 oz. container. Estimated monthly usage: 10 each.	SS												
Brand Name:Roma #233574 Packaging:1/5#	ınces												
	120 0	0.4267	\$51.20	\$5.12	0.2400	\$28.80	\$19.20	0.3300	\$39.60	5.28	\$	0.00	\$0.00
BAYLEAVES: Packaged in a 2 oz. container. Estimated monthly usage: 16													
each.	ces												
BAYLEAVES: Packaged in a 2 oz. container. Estimated monthly usage: 16 each. Brand Name:Durkee(618-1036)	32 1	3.4550	\$110.56	\$6.01		\$0.00			\$0.00		•	0.00	\$0.00
D 1 · 1/2	32 0	3.4330	ф110.50	φυ.91		φυ.υυ			φ0.00		) 3	.00	φυ.υυ

SWEET BASIL: Packaged in a 12 oz. container. Estimated monthly usage: 2 each.											
Brand Name:Roma #236592	24 Onuces										
Packaging: 1/24 oz	24 5	0.4655	\$11.17	\$2.56	0.4500	\$10.80	\$10.80	\$0.00	\$0	00	\$0.00
TACO SEASONING MIX: Lawrys #80615, Dextrose, salt, corn flour, onion	24 0	0.4033	Ψ11.17	Ψ2.50	0.4500	Ψ10.00	Ψ10.00	ψ0.00	Ψ0	00	Ψ0.00
powder, cumin, garlic powder, citric acid, partially hydrogenated soybean oil,											
oregano, and silica gel added as an anti-caking agent. Packaged 6/9 oz. to a											
case. Estimated monthly usage: 10 cases.											
Brand Name: _PFI866251	ces										
Packaging:1/50#	540 Onuces	0.1587	\$85.70	\$8.57	0.1290	\$60.66	\$103.20	\$0.00	\$0	00	\$0.00
CINNAMON: Ground. 14 oz. container. Estimated monthly usage: 8	340 0	0.1367	\$65.70	φο.57	0.1290	\$U2.UU	\$103.20	\$0.00	φ0	00	\$0.00
containers.											
Brand Name:Emporium(618-3136)	ses										
Packaging: _1/4 lb	Onnces	0.1630	¢10.14	¢10.27		¢0.00		ΦΩ ΩΩ	0.0	00	¢0.00
Packaging: _1/4 ib			\$18.14	\$10.57		\$0.00		\$0.00	\$0	00	\$0.00
1   -	es										
Brand Name:Roma #264702 Packaging:1/5#	onnces O										
2 Packaging:1/5#	356 Ō	0.2644	\$94.13	\$4.23	0.2300	\$81.88	\$18.40	\$0.00	\$0	00	\$0.00
PARSLEY: Dehydrated. 2.6 oz. container. Estimated monthly usage: 8											
	S										
	20.8 Onuces										
Packaging:1/16 oz	20.8 ට්	0.7246	\$15.07	\$8.00	0.6800	\$14.14	\$11.20	\$0.00	\$0	00	\$0.00
Brand Name:Roma #264703 Packaging:1/16 oz  CHILI POWDER: Gebhardts, Pepper pulp and other spices, fancy. 5 pound											
container. Estimated monthly usage: 10 containers.											
Brand Name: _ <b>Tex Spice</b> (444-6571)	pun										
Packaging: _1/6 lb	50 Found	2.6883	\$134.42	\$16.13	2.7400	\$137.00	\$13.70	\$0.00	\$0	00	\$0.00
ONIONS: Dried, chopped, U.S. Grade A. 25 pound container. Estimated					,	,					
monthly usage: 1 containers.											
Brand Name:	25 Junod										
Packaging:1/3#	25 0	3.2000	\$80.00	\$48.00	3.0500	\$76.25	\$9.15	\$0.00	90	00	\$0.00
BEEF BASE: Shall be produced from fine quality beef, salt, hydrolyzed	25 д	3.2000	Ψ60.00	ψ+0.00	3.0300	Ψ10.23	ψλ.13	ψ0.00	φυ		Ψ0.00
<ul> <li>is been broken in beef fat. 25 lb. containers. Estimated monthly usage: 75</li> </ul>											
g pounds Brand Name: Chefsown	p										
Packaging:1/25#43282	75 Dunod	1.0067	¢1.42.00	¢57.20	1 (500	¢100 FE	¢ 41 75	ΦΩ ΩΩ	0.0	00	¢0.00
	/3 4	1.9067	\$143.00	\$57.20	1.6500	\$123.75	\$41.75	\$0.00	\$0	00	\$0.00
CHICKEN BASE: Shall be prepared from fine roasted, table ready government											
inspected chicken meat. 25 lb. containers. Estimated monthly usage: 50 pds.											
Brand Name: Chefsown058569	50 Found										
Packaging:1/25#	50 ℃	1.9067	\$95.34	\$57.20	1.4800	\$74.00	\$37.00	\$0.00	\$0	00	\$0.00
LEMON PEPPER: 1/8 lb.container. Estimated monthly usage: 5 each.											
Brand Name:Gulfpcfc253940 Packaging:1/25 #	pui										
Packaging:1/25 #	40 do	4.4089	\$176.36	\$7.44	3.9900	\$159.60	99.75	\$0.00	\$0	00	\$0.00
			,			,		+ 3.00	1 0	1 1	1 - 1 - 2

			Lawsun #	700=					
NUTMEG: Ground, 16 oz. container. Estimated monthly usage: 2 each.									
Brand Name:Durkee(618-4501)	nun								
$\stackrel{\mathfrak{S}}{=}$ Packaging: 1/16 oz	2 2	13.3000	\$26.60 \$13.30		\$0.00		\$0.00	\$0.00	\$0.00
CLOVES: Ground, 16 oz. container. Estimated monthly usage: 2 each.									
Brand Name:Durkee(618-3123)	pur								
Packaging: 1/16 oz	2 2	16.5900	\$33.18 \$16.59		\$0.00		\$0.00	\$0.00	\$0.00
⇔ GROUND CUMINO: 16 oz. Container. Estimated monthly usage: 10 each	, ,								
Brand Name:Tex Spice(444-9872)	ਰੂ								
Packaging: 1/5 lb	10 A	2 2000	422 AA 416 AA	2 0000	<b>#20.00</b>	¢10.40	Φ0.00	¢0.00	Φ0.00
	10 4	3.2000	\$32.00 \$16.00	3.8800	\$38.80	\$19.40	\$0.00	\$0.00	\$0.00
CAYENNE PEPPER: 1 lb. Container. Estimated monthly usage: 20 each	9								
Brand Name: _Roma	20 Junod		****		4-1-0	***	40.00	40.00	40.00
Packaging: 1/5# 264673	20 🙇	7.1800	\$143.60 \$7.18	3.2100	\$64.20	\$16.05	\$0.00	\$0.00	\$0.00
GROUND CUMIN: 1 lb. Container. Reo. Estimated monthly usage: 12 each.									
Brand Name: _Roma									
Packaging:1/5#	12 A Dunod								
	12 🖧	4.4100	\$52.92 \$4.41	3.8800	\$46.56	\$19.40	\$0.00	\$0.00	\$0.00
CREAM OF TARTAR: 28oz. container. McCormick. Estimated monthly									
Usage:4 each.	es								
를 Brand Name:Durkee(618-3073)	onnces O								
Packaging: 1/29 oz	112 5	0.5197	\$58.21 \$15.07		\$0.00		\$0.00	\$0.00	\$0.00
LAWRY'S SEASON SALT: 5 lb. Container. Estimated monthly usage: 2 each.									
Brand Name: _Gulf#253946	pui								
Brand Name: _Gulf#253946    Example   Packaging:5/5#	10 8	2.1140	\$21.14 \$10.57	1.9800	\$19.80	\$49.50	\$0.00	\$0.00	\$0.00
POULTRY SEASONING: 12oz. Container. McCormick. Estimated monthly			722121		7-200	7 12 12 0	73333	7 7 7 7	7000
usage: 5 each.									
Brand Name:Tex Spice(444-9542)	es								
Packaging:1/16 oz	Onnces 0								
	60 5	0.3088	\$18.53 \$4.94		\$0.00		\$0.00	\$0.00	\$0.00
COCOA: 5 lb. bag. Hershey's, ADM low fat 10-12%. Estimated monthly									
Sample   usage: 4 bags.									
Brand Name:Diamond Crystal(369-4569)	pu								
Packaging:6/5 lb	20 Junod	3.0997	\$61.99 \$92.99	4.1000	\$82.00	\$20.50	\$0.00	\$0.00	\$0.00
ONION POWDER: 32 oz. container. Estimated monthly usage: 4 each.			+ 2 = 12 2 + 2 1 = 12		752.50	,,_	7555	7 - 1 - 2	7 3 3 3
Brand Name: _Traders Choice_(618-2208)	es								
	onuces 128								
	128 5	0.2241	\$28.68 \$3.81	0.2345	\$30.02	\$7.51	\$0.00	\$0.00	\$0.00
SALAD DRESSING: Thirty-five (35) per cent oil, two hundred (200) each 12									
gram individual packets per case. Estimated monthly usage: 35 cases.									
Brand Name: _ <b>PPI</b> (339-4251)	7000 Each								
Packaging: 200/12 gram	7000 🛱	0.0347	\$242.90 \$6.93		\$0.00		\$0.00	\$0.00	\$0.00
SALAD DRESSING: Thirty-five (35) per cent oil, packaged four (4) each, one									
$\ddot{3}$ (1) gallon plastic jars per case. Estimated monthly usage: 11 cases.	J.S								
Brand Name:Silver Source #201324	44 Gallons								
Packaging:4/1 gal	44 B	6.0025	\$264.11 \$24.01	5.1250	\$225.50	\$20.50	\$0.00	\$0.00	\$0.00

	MUSTARD: Prepared, titratable acidity not less than 3% or more than 4%. 500									
	each 5.5 gram individual packets per case. Estimated monthly usage: 30 cases.									
Ę	Brand Name: _Americana (337-2257)									
I st	Packaging: 500/4.5 gram	15000 Each								
		15000 🛱	0.0083	\$124.50 \$4.13		\$0.00		\$0.00	\$0.00	\$0.00
	MUSTARD: Prepared, titratable acidity not less than 3% or more than 4%.									
4.	Packaged four (4) each, one (1) gallon plastic jars per case. Estimated monthly									
Į į	usage: 6 cases.	S.								
Ite	Brand Name: _Clements128596	lon								
	usage: 6 cases.  Brand Name: _Clements128596  Packaging:4/1gal	24 Sallons	2.7000	\$64.80 \$10.80	2.6875	\$64.50	\$10.75	\$0.00	\$0.00	\$0.00
	CATSUP: Tomato, U.S. Grade A, 33% solids. 500 each 9 gram packets per					,	, ,,		1 2 2 2	
3.	case. Estimated monthly usage: 25 cases.									
em	Brand Name:Red Gold (228-0010)	h								
=	Packaging: 1000/9 gram	12500 Each	0.0142	\$177.50 \$14.23		\$0.00		\$0.00	\$0.00	\$0.00
	CATSUP: Tomato, U.S. Grade A, 33% solids. One (1) gallon plastic container.	12000 🔟	0.02.12	Ψ177100 Ψ11120		ψ0.00		Ψ0100	Ψ0100	Ψσ.σσ
6:	Estimated monthly usage: 12 g	S								
em	Brand Name:WestCreek878195	lon								
=	Packaging: 6/#10	Sallons 12	3.3167	\$39.80 \$19.90	3.2900	\$39.48	19.74	\$0.00	\$0.00	\$0.00
	WORCESTERSHIRE SAUCE: Worcestershire sauce. Case pack 4/1 gallon.			707.00 727.00	0.00	72711		7000	7 0 0 0	7000
7:	Estimated monthly usage: 3 cases.	s s								
l lem	Brand Name:Diamond Crystal (359-6665)	lon								
=	Packaging: 4/1 gal.	Sallons Callons	6.8075	\$81.69 \$27.23		\$0.00		\$0.00	\$0.00	\$0.00
	DILL PICKLE RELISH: Cucumbers, water, salt, vinegar, sweet red peppers,	12 0	0.00.0	φοιιος φ2.120_		ψ0.00		Ψ0100	Ψ0100	Ψσ.σσ
	sodium benzoate as a preservative, natural flavors, xanthan gum, alum,									
∞	polysorbate 80 and FD & C yellow #5. Packaged four (4) each one (1) gallon									
l E	containers to a case. Estimated monthly usage: 2 cases.									
I E	D 137 D 137 137 (546 5056)	ons								
	Packaging:4/1 gal	2 Callons	4.6500	<b>40.20 410.60</b>	<i>5.7500</i>	¢11.70	011.50	Ф0.00	Φ0.00	фо оо
		2 5	4.6500	\$9.30 \$18.60	5.7500	\$11.50	\$11.50	\$0.00	\$0.00	\$0.00
<u>.</u> .	IMITATION VANILLA FLAVORING: Imitation, plastic. Packaged in one (1)									
n 5	gallon containers. Estimated monthly usage: 2 containers.	ıs								
[tel	Brand Name:First Qlty (588-8899)	llor								
	Packaging: <b>4/1 gal.</b>	2 Callons	4.2325	\$8.47 \$16.93		\$0.00		\$0.00	\$0.00	\$0.00
	BAR-B-QUE SAUCE: Tomato puree, sugar, vinegar, worcestershire sauce,									
	spices, molasses, salt, modified food starch, hickory smoke, paprika, red and									
10:										
ă	monthly usage: 7 cases.									
Ite	Brand Name:Little Pig (320-6117)	28 Gallons								
	Packaging:4/1 gal	allc	2 (050	0102 4C 014 F0	2.0625	φ100 10	Φ15 45	Ф0.00	Φ0.00	фо оо
		28 5	3.6950	\$103.46 \$14.78	3.8635	\$108.18	\$15.45	\$0.00	\$0.00	\$0.00
l   <u></u> .	ASSORTED JELLIES (PORTION CONTROL): As assorted, fancy, U.S. Grade									
	A. 200 each 1/2 oz. packets/case. Estimated monthly usage: 5 cases.									
tem	Brand Name:Poco Pac (459-1088)	पूर								
	Packaging: 200/10 gram	Each 0001	0.0292	\$29.20 \$5.83		\$0.00		\$0.00	\$0.00	\$0.00
	8	1000 選	0.0292	\$29.20 \$5.83		\$0.00		\$0.00	\$0.00	\$0.00

	ITALIAN DRESSING (SALAD): Soybean oil, water, cider vinegar, salt, corn											
	sweetener, lemon flavor, dehydrated onions, natural garlic flavor, natural onion											
	flavor, pepper, spices. Packaged 4/1 gallon containers to a case. Estimated											
	monthly usage: 16 gallons.	S										
	Brand Name: _SlvSrc	lon										
	Packaging: 4/1 gal	16 Callons	8.8450	\$141.52	\$35.38	6.8800	\$110.08	\$27.52	\$0.00	\$0.00	\$0.00	
	FRENCH DRESSING (SALAD): Soybean oil, corn sweetener, water, vinegar,	10 0	0.0450	φ1-11.52	ψ33.30	0.0000	φ110.00	Ψ27.02	φο.σσ	ψ0.00	Ψ0.00	
	salt, spices. Packaged $4/1$ gallon container to a case. Estimated monthly usage:											
	sait, spices. I dekaged 4/1 ganon container to a case. Estimated monthly usage.											
	4 gallons. Brand Name: _SlvSrc201317	suc										
	Declaration 4/1 as1	4 Gallons	0.0075	фа <i>с</i> 02	Φ2.c. 0.2	<b>7</b> 5000	<b>#20.00</b>	<b>\$20.00</b>	¢0.00	Φ0.00	Ф0.00	
	Packaging:4/1gal	4 5	9.0075	\$36.03	\$36.03	7.5000	\$30.00	\$30.00	\$0.00	\$0.00	\$0.00	
	1000 ISLAND DRESSING (SALAD): Packaged 4/1 gallon container to a case.											
	Estimated monthly usage: 4 gallons.	us										
	Brand Name: SlvSrc 201315	4 Gallons										
	Packaging:4/1gal	4 Ga	8.9725	\$35.89	\$35.89	7.2500	\$29.00	\$29.00	\$0.00	\$0.00	\$0.00	
	RANCH DRESSING(SALAD): Packaged 4/1 gallon container to a case.											
S	Estimated monthly usage: 12 gallons.	us										
ent	Brand Name: Silver source 201321	lloı										
ii	Packaging: 4/1gal	suollons Gallons	9.4850	\$113.82	\$37.94	8.2500	\$99.00	\$33.00	\$0.00	\$0.00	\$0.00	
Condiments	PICANTE SAUCE: Tomatoes, water, onions, fresh peppers, vinegar, salt and											
	spices. 4/1 gallon to a case. Estimated monthly usage: 3 cases.	ıs										
X	Brand Name:Red Gold (228-0011)	llor										
ior	Packaging: 6/#10	Sallons Gallons	5.8889	\$70.67	\$26.50		\$0.00		\$0.00	\$0.00	\$0.00	
Section X	TACO SAUCE: 200/9 gr. per case. Estimated monthly usage: 40 cases.											
S	Brand Name: _ Poco Pac (329-2470)	녚										
	Packaging: 200/9 gram	Each 0008	0.0180	\$144.00	\$3.60		\$0.00		\$0.00	\$0.00	\$0.00	
	CHEDDARCHEESE SAUCE: #10 can. 6 cans to a case. IHS.Estimated			·	-							
	monthly usage: 16 cases.											
	Brand Name:Gehls Great Plains (272-2877)	2										
	Packaging: 6/#10	Cans	4.2733	\$410.24	\$25.64		\$0.00		\$0.00	\$0.00	\$0.00	
	LIGHT CORN SYRUP: 1 gallon container. 4 containers per case. Karo.			•	-		,			111111		
	Estimated monthly usage: 2 cases.											
	Brand Name:Garden Club (467-3240)	× ×										
	Packaging:4/1 gal	& Gallons										
	1 dekagnig 4/1 gai	Sal	5.0000	\$40.00	\$20.00	5.5000	\$44.00	\$22.00	\$0.00	\$0.00	\$0.00	
	DARK CORN SYRUP: 1 gallon container. 4 containers per case.	<u> </u>	2.000	Ψ 10100	7=3.03	2.2000	ψ.1100	<u>#22.00</u>	Ψ0.00	φσ.σσ	\$5.50	
	Karo.Estimated monthly usage: 2 cases.											
	Brand Name:Homebrand898182	· •										
	Packaging:4/1gal	ons										
	1 ackaging4/1gai	∞ Gallons	12.9375	\$103.50	\$51.75	9.8900	\$79.12	\$39.56	\$0.00	\$0.00	\$0.00	
ш		٥	12.7313	Ψ103.30	ψυ1.10	7.0700	Ψ17.14	ψυλιυ	φυ.υυ	φυ.υυ	φ0.00	

SWEET AND SOUR SAUCE: 1/1 gallon per case. Kraft. Monthly usage: 2 cases.	S						
हु Brand Name:La Choy (306-4516)	llon						
Packaging: 1/1 gal	2 👸 <b>14.8500</b>	\$29.70 \$14.85	\$0.00	\$0.00	\$0.00	\$0.0	)0

			Eu Woon #	<i>,,,,</i>					
HORSERADISH SAUCE: 1/32 oz per case. Kraft. Monthly usage: 2 cases.									
S   Brand Name:Tulkoff (242-4455)	es								
Packaging: 1/32 oz	64 Onuces								
<u>  -                                 </u>	64 Õ	0.1531	\$9.80 \$4.90		\$0.00		\$0.00	\$0.00	\$0.00
RED TABASCO: 5 oz. 12 per case. Estimated monthly usage: 3 cases.									
RED TABASCO: 5 oz. 12 per case. Estimated monthly usage: 3 cases.  Brand Name:McIlhenny (327-6037) Packaging: 12/5 oz.	S								
Packaging: 12/5 oz	nce								
	Omces 0	0.5283	\$95.09 \$31.70		\$0.00		\$0.00	\$0.00	\$0.00
GREEN TABASCO: 5 oz. 12 per case. Estimated monthly usage: 3 cases.	S								
Brand Name:McIlhenny (327-4511)	nce								
Packaging: 12/5 oz	180 0	0.5592	\$100.66 \$33.55		\$0.00		\$0.00	\$0.00	\$0.00
A-1 STEAK SAUCE: 1 gallon container. Estimated monthly usage: 2 gallons			-						
Brand Name:A-1 (361-3668)	SI								
Packaging: <b>2/1 gal</b>	lor								
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	2 E	36.4050	\$72.81 \$72.81		\$0.00		\$0.00	\$0.00	\$0.00
SOY SAUCE: 4/1 gallon plastic containers. Estimated monthly usage: 2 cases.									
Brand Name: _ <b>Diamond Crystal</b> (306-5554)	ons								
Packaging:4/1 gal	∞ Gallons	6.0850	\$48.68 \$24.34		\$0.00		\$0.00	\$0.00	\$0.00
HINES 57 SAUCE: 12/15 oz. bottles. Estimated monthly usage: 2	0 0	0.0050	φτο.υο φ2τ.υτ_		φ0.00		\$0.00	φυ.υυ	ψ0.00
Brand Name: _ Heinz 57 (361-5010)	ces								
Packaging: 12/15 oz	360	0.3098	\$111.53 \$55.77		\$0.00		\$0.00	\$0.00	\$0.00
PEPPER SAUCE: 12/6 oz. bottles. 24 per case. Trappey's. Estimated Monthly	300 0	0.5070	ψ111.55 ψ55.77		Ψ0.00		φο.σο	Ψ0.00	Ψ0.00
usage: 1 case.									
usage. 1 case.  Brand Name: _Louisiana150357	ces								
Packaging: 24/6oz	72 Onuces	0.1671	\$12.03 \$12.03	0.1130	<b>\$</b> 8 1 <i>4</i>	\$16.27	\$0.00	\$0.00	\$0.00
Packagnig. 24/00Z S. HONEY: 6/6 lb. containers. Burleson. Estimated monthly usage: 4 gallons.	12 0	0.1071	φ12.03   φ12.03	0.1130	ψ0.14	φ10.27	\$0.00	φυ.υυ	ψ0.00
Brand Name: _ Youngblood (472-5511)	ons								
Brand Name 10dingblood (472-3511)    Packaging: 1/6 lb	la l	12.9800	\$51.92 \$12.98	25,0000	\$100.00	\$25.00	\$0.00	\$0.00	\$0.00
APPLE CIDER VINEGAR: 1 gallon container. 6 gallons to a case.Heinz.	4 0	12.7000	φ31.92 φ12.90	23.0000	\$100.00	\$23.00	\$0.00	φυ.υυ	\$0.00
Estimated monthly usage: 1 case									
	ons								
Brand Name:National (530-8523)   Packaging: 6/1 gal	9 Gallons	4.2817	\$25.69 \$25.69		\$0.00		\$0.00	\$0.00	\$0.00
CAJUN CHEF SLICED PICKLES: 5 gallon container. Estimated monthly	0 0	4.2017	φ43.09 φ43.09		\$0.00		\$0.00	φυ.υυ	Φυ.υυ
usage: 3, 5 gallon container.	suc								
Brand Name:Chef Supreme (516-2344)	allons Callons	2.7960	\$41.94 \$13.98	3.1500	\$47.25	15.75	\$0.00	\$0.00	\$0.00
Packaging: 1/5 gal SYRUP, MADIERA FARMS 8011934: 1.5 ounce container. 100 in a	13 5	2.7900	\$41.94 \$13.98	5.1500	Φ41.23	13./3	φυ.υυ	φυ.υυ	φυ.υυ
case. Estimated monthly usage: 3 cases	Š								
Brand Name: _Poco Pac(501-0038)	Cases	<i>(</i> 2000	¢10.60 ¢6.30		фО ОО		\$0.00	00.00	¢0.00
Packaging: 100/1.5 oz	3 U	6.2000	\$18.60 \$6.20		\$0.00		\$0.00	\$0.00	\$0.00

RANCH DRESSING - LOW FAT: Pouch. 60/1.5oz per case. Estimated monthly										
usage: 10 gallons.										
Brand Name:Ken's		es								
Packaging:92972360/1.5z	10	ත් 15.0000	\$150.00	\$15.00	11.4500	\$114.50	\$11.45	\$0.00	\$0.00	\$0.00

RANCH DRESSING - KENS - LOW FAT: Pouch. 100/1.5oz per box.										
Estimated monthly usage: 10 boxes.										
Brand Name:Village garden998968	Se									
Packaging:100 /1.5 oz4200 grams	10 8	29.3700	\$293.70	\$0.70	19.0800	\$190.80	\$19.08	\$0.00	\$0.00	\$0.00
BAKING POWDER: Type 1, sodium-aluminum sulfate and orthophosphate. Ten	10 m	29.3700	\$293.70	\$9.79	19.0000	\$190.80	\$19.08	\$0.00	\$0.00	\$0.00
:: (10) pound package. Estimated monthly usage: 3 packages.										
Brand Name:Gilster993374	p									
Packaging:6/5#	30 Pound	0.0607	φ <b>25</b> 92	¢25 92	0.0500	¢25 50	¢25 50	\$0.00	¢0.00	¢0.00
CODNIME AL DILL CONTROL OF THE CONTR	30 🚉	0.8607	\$25.82	\$25.82	0.8500	\$25.50	\$25.50	\$0.00	\$0.00	\$0.00
CORNMEAL: Plain, granulated, course, regular, yellow. Twenty-Five (25)										
pound package. Estimated monthly usage: 5 package.	g									
Brand Name:Morrison (384-4537)	125 A Dunod	0.2152	<b>#20.65</b>	Φ= 02	0.2200	<b>\$41.25</b>	<b>40.25</b>	фо оо	Φ0.00	Φ0.00
Packaging: 1/25 lb	125 🚊	0.3172	\$39.65	\$7.93	0.3300	\$41.25	\$8.25	\$0.00	\$0.00	\$0.00
FLOUR: All purpose, bleached, enriched, regular. Fifty (50) pound										
package. Estimated monthly usage: 11 packages.										
Brand Name:Climax (382-3372)	р									
Packaging: 1/50 lb	650 Punod		44.5	<b></b>		****	****	40.00	40.00	
Brand Name:Climax (382-3372)   Packaging: 1/50 lb   Packaging:	650 🚊	0.2500	\$162.50	\$12.50	0.2850	\$185.25	\$14.25	\$0.00	\$0.00	\$0.00
SPAGHETTI: Plain, regular, long form. Pure #1 Semolina, enriched. 2/10										
pound packages. Estimated monthly usage: 30 cases.	٦									
Brand Name: _Luigi23579	600 Pound									
Packaging: 2/10#	600 💆	0.7130	\$427.80	\$14.26	0.6375	\$382.50	\$12.75	\$0.00	\$0.00	\$0.00
MACARONI: Elbow, #1 Semolina, enriched, plain, regular. 2/10 pound										
package. Estimated monthly usage: 80 cases.	-									
Brand Name: _Luigi251644	1600 Jonnod									
Packaging: 2/10#	1600 €	0.7130	\$1,140.80	\$14.26	0.6500	\$1,040.00	\$13.00	\$0.00	\$0.00	\$0.00
BAKING SODA: Case pack 12/1 lb. Estimated monthly usage: 5 Cases.	_									
Brand Name: _Hospitality957381	60 Pound									
	60 🖧	1.0750	\$64.50	\$12.90	0.7000	\$42.00	\$16.80	\$0.00	\$0.00	\$0.00
OATMEAL: Quick-cooking. Case pack to be twelve (12) each forty-two (42)										
ounce. Estimated monthly usage: 12 cases.	Se									
Brand Name:Ralston (660-1550)	6048 Omces									
Packaging: 1/50 lb	6048 ට්	0.0413	\$249.78	\$33.00	0.0490	\$296.35	\$39.20	\$0.00	\$0.00	\$0.00
ENRICHED QUICK GRITS: Enriched quick grits, 100%, packaged 12/3 lb.										
Brand Name: _Hospitality										
Packaging:1/50#993375	pur									
	punod Donnod	0.7467	\$215.05	\$26.88	0.6200	\$178.56	\$31.00	\$0.00	\$0.00	\$0.00
DRY PINTO BEANS: U.S. Grade A, Pre-washed, 50 lb. sack. Estimated										
monthly usage: 22 sacks.										
Brand Name: _slvrsrc/packer	1100 Pound									
Packaging: 1/50# 262999	1100 년	0.4408	\$484.88	\$22.04	0.4344	\$477.84	21.72	\$0.00	\$0.00	\$0.00

	T 1	1			,			T	1	1	1	
ENRICHED WIDE EGG NOODLES: 100% durum patent flour with 5.5% egg												
solids, 10 lb. box. Estimated monthly usage: 15 boxes.												
Brand Name: _Gilster991275	punod Donnud											
Packaging:1/10_#	150 0	1.0000	\$150.00	\$10.00	0.6600	\$132.00	8.88	\$0.0	0	\$0.00		\$0.00
	130 🕰	1.0000	\$130.00	\$10.00	0.0000	\$132.00	0.00	\$0.0	U	\$0.00	,	\$0.00
LASAGNA NOODLES: #1 Semolina, enriched, plain, regular, 10 lb. box.												
Estimated monthly usage: 5 boxes.												
Brand Name:OB Mac (417-6529)	l Jun											
Packaging: 1/10 lb	50 Ponnod	1.1040	\$55.20	\$11.04		\$0.00		\$0.0	0	\$0.00		\$0.00
POWDERED MILK: Non-fat dray, U.S. premium, pasteurized milk, bacterial		_										
count not over 50,000 per gram. Packaged 50 pound sack. Estimated monthly												
	l p											
	400 A Double	4.0000	<b># 400 00</b>	<b></b>		40.00		Φ0.0		40.00		Φ0.00
Packaging: 1/50 lb	400 ਨੂੰ	1.2000	\$480.00	\$60.00		\$0.00		\$0.0	0	\$0.00	)	\$0.00
⇔ CORN STARCH: 24/16 oz. per case. Estimated monthly usage: 2 case.												
Brand Name: Argo	pu											
Brand Name: Argo    Packaging:24/16oz	48 Punod	0.7392	\$35.48	\$17.7 <i>1</i>	0.7072	\$33.95	\$16.97	\$0.0	0	\$0.00		\$0.00
	40 A	0.7392	\$33.46	\$17.74	0.7072	ф33.93	\$10.97	\$0.0	U	\$0.00	,	\$0.00
TEXAS TWIST ROTINI: 2/10 lb. per case. Estimated monthly usage: 5 cases.												
Harand Name: _OB Mac (417-6219)												
Packaging: 1/ 20 lb												
Ite	l Jun											
	100 Pound	0.7470	\$74.70	\$14.94		\$0.00		\$0.0	0	\$0.00		\$0.00
RICE, LONG GRAIN: Long grain, US No. 1. Packaged 50 pound bags.												
Estimated monthly usage: 44 bags.												
Brand Name:/Packer955927	l pu											
	2200 Junod	0.2674	¢000.20	Φ10. <b>27</b>	0.2600	φ <b>π</b> οο οο	<b>010.00</b>	0.4500 0000.0	0 22.5	Φ0.00		Φ0.00
Packaging: 1/50 #		0.3674	\$808.28	\$18.37	0.3600	\$792.00	\$18.00	0.4500 \$990.0	0 22.5	\$0.00	)	\$0.00
COMPLETE CORNBREAD MIX: Enriched cornmeal, enriched flour, vegetable	;											
shortening, sugar, leavening, buttermilk solids, dextrose, salt, powdered												
shortening, sight, leavening, butterning solids, dexistose, sair, powdered cellulose, eggs. Case pack of six (6) each 5 pound. Estimated monthly usage: 52 each.												
<b>№</b> 52 each.												
Brand Name: _Hospitality	pu											
shortening, sugar, leavening, buttermilk solids, dextrose, salt, powdered cellulose, eggs. Case pack of six (6) each 5 pound. Estimated monthly usage:  52 each.  Brand Name: _Hospitality Packaging: 1/50# 957643	1560 Ponud	0.6527	\$1,018.21	\$19.58	0 5640	\$879.84	\$28.20	\$0.0	0	\$0.00		\$0.00
PEANUT BUTTER: U.S. Grade A, smooth. Case pack six (6) each #10 cans.	1500 Д	0.0327	ψ1,010.21	417.50	0.0310	φοισιστ	Ψ=0•=0	ψ0.0	-	ψ0.00		Ψ0.00
Estimated monthly usage: 8 cases.												
5 Brand NameFisher (431-6102)	1S											
Packaging: 6/5 LB	Cans Cans	5.6150	\$269.52	\$33.69	5.7900	\$277.92	\$34.74	\$0.0	0	\$0.00		\$0.00
MALT-O-MEAL #338-376 or CREAM OF WHEAT: Quick-cooking. Case				, , , , , ,	2, 00		++···	φο.α	-	ψ3.00		7 0
pack to be 12/24 oz. Estimated monthly usage: 13 cases.												
	Ses											
Brand Name: _Gilster	3744 Onuces	0.0557	#2.40.72	Φ00.41	0.0440	<b>4150 50</b>	<b>#26.00</b>	<b>*</b>		<b>\$0.00</b>		Φ0.00
Packaging: 1/50# 904432	3/44 0	0.0667	\$249.72	\$22.41	0.0410	\$153.50	\$32.80	\$0.0	U	\$0.00	)	\$0.00
PARMESAN CHEESE: grated. 12/16 oz containers. 6 containers per case.												
Kraft. Estimated monthly usage: 3 cases.	S											
Brand Name: _Cucina877474	nces											
Packaging: 12/16z	576 <b>ਰ</b>	0.2838	\$163.47	\$54.48	0.2450	\$141.12	\$47.04	\$0.0	0	\$0.00		\$0.00
1 mening. 12/10/2							,	7010		70.00	1	

	. SWEETENED CONDENSED MILK: 14 oz cans. 24 cans per case. Eagle										
8	Brand only. Estimated monthly usage: 1 cases.	S									
	Brand Name:Rollmdw272184	336 Onuces									
F	Packaging: 24/14oz	336	0.1161	\$39.01 \$39.00	0.0950	\$31.92	\$31.92	\$0.00	\$0.00	\$0.00	
	EVAPORATED MILK: 12 fl oz. 24 cans per case. Hytop. Estimated monthly								·		
;	usage: 1 cases.										
	Brand Name: _Goldcross	288 Onuces									
ļ	Packaging:24/12z57421	nuc									
		288 5	0.0806	\$23.21   \$23.22	0.0800	\$23.04	\$23.04	\$0.00	\$0.00	\$0.00	
	TACO SHELLS: 200 ct. 5.5 lb box. Rodriquez. Estimated monthly usage: 4										
(	cases.										
	Brand Name:Casafiesta (311-3354)	Each 008									
	Packaging: 1/200 ct	800 選	0.0509	\$40.72 \$10.18	0.0512	\$40.96	\$10.24	\$0.00	\$0.00	\$0.00	
	BAKING MIX: 6/5 lb. box. Pioneer. Estimated monthly usage: 4 cases	ਰ									
	Brand Name:Pioneer (391-3506)	120 A									
ķ	Packaging: 6/5 lb	120 🖧	1.0667	\$128.00 \$32.00		\$0.00		\$0.00	\$0.00	\$0.00	
l I,	Packaging: 6/5 lb  CROUTONS: 10 lb. bags. 12 bags per case. Rothbury's. Estimated monthly										
(	usage: 5 cases.										
	Brand Name: WestCreek141197	60 Bound									
,	Packaging: 1/10#	60 &	1.6800	\$100.80 \$16.80	1.6500	\$99.00	\$16.50	\$0.00	\$0.00	\$0.00	
	COOKING RELEASE: 17 oz cans. 6 cans per case. Vegalean. Estimated										
	monthly usage: 6 cases.										
	Brand Name: SlvSrc	SS									
ļ	Packaging:6/17z_898859	612 Sounces									
		612 S	0.1549	\$94.80 \$15.80	0.1500	\$91.80	\$15.30	\$0.00	\$0.00	\$0.00	
	TEA: Lipton only. 10/100 ct. Estimated monthly usage: 12 cases.										
	Brand Name:Lipton (829-2005)	12000 Each									
ř	Packaging: 10/100 ct	12000 🛱	0.0367	\$440.40 \$36.70	0.0380	\$456.00	\$3.80	\$0.00	\$0.00	\$0.00	
	. COFFEE FILTERS: 1000 ct. Mr. Coffee Estimated monthly usage: 12 cases.										
	Brand Name: _Bunn										
	Packaging: _2/500ct76348	ch									
•		12000 Each		\$0.00	0.0110	\$132.00	\$11.00	\$0.00	\$0.00	\$0.00	
	LIQUID SHORTING: vegetable or corn. 35 lb jug. Frosty Acres. Estimated										
	monthly usage: 81 jugs.										
	Brand Name:silver soiurce/packer897414	pun									
,	Packaging: 1/35#	2835   5	0.8200	\$2,324.70 \$28.70	0.7800	\$2,211.30	\$27.30	0.7800 \$2,211.30	27.3 \$0.00	\$0.00	
	GRAM CRACKER CRUMBS: 1/10 lb bags. Nabisco. Estimated monthly										
	usage: 1 cases.										
	Brand Name: _Nabisco	ρι									
,	Packaging:2/5#29128	10 Pound	1.9500	\$19.50 \$19.50	1.0500	¢10.50	\$19.50	\$0.00	\$0.00	\$0.00	
		10 🕰	1.9300	\$19.50 \$19.50	1.9500	\$13.50	\$13.50	\$0.00	\$0.00	\$0.00	

DRY BLACK-EYE PEAS: US Grade A, Prewashed, 20 lb sack. Estimated monthly usage: 20 sacks.										
	p									
Brand Name: _JackRabbit	400 Ponnd	0.0405	#227 00 #1 6 05	0.0400	ф <b>22</b> с 00	<b>416.00</b>	0.0000	ta 52 00	φο οο	фо оо
Packaging: 1/20#	400 ਨੂੰ	0.8425	\$337.00 \$16.85	0.8400	\$336.00	\$16.80	0.8800	\$352.00	\$0.00	\$0.00
DRY LIMA BEANS, LARGE: US Grade A, Prewashed, 25lb sack. Estimated										
monthly usage: 20 sacks.										
E Brand Name:Jackrabbit (433-8505)	pur									
Packaging: 1/20 lb	500 Pound	1.1110	\$555.50 \$22.22	1.1500	\$575.00	\$23.00		\$0.00	\$0.00	\$0.00
RAISINS SEEDLESS, 30 lb. Estimated monthly usage: 60 lbs.						-				
(0)	l pt									
Brand Name: _Sund/ Thomp(079-0550) Packaging: _1/ 30 lb	60 Bound	1.5323	\$91.94 \$45.97		\$0.00			\$0.00	\$0.00	\$0.00
	00 <u>A</u>	1.5525	\$91.94 \$45.9 <i>1</i>		\$0.00			\$0.00	\$0.00	\$0.00
instant/Powder Potatoes, 6/#10 Estimated monthly usage: 12 each.										
Brand Name: _ <b>True Recipe</b> (209-2500) Packaging: _6/#10	ch	5.9000								
2   Packaging: _6/#10	12 🛱	5.9000	\$70.80 \$35.40		\$0.00			\$0.00	\$0.00	\$0.00
DICED RED SWEET PEPPER: Diced red peppers, water, salt, citric acid,										
calcium sulphate. 24/14.5 oz per case. Estimated monthly usage: 3 cases.										
Brand Name: _Dunbar	Ce									
Packaging:6/#10_39809	Onnces 0801	0.0781	\$84.35 \$45.00	0.0780	\$84.24	\$44.90		\$0.00	\$0.00	\$0.00
DRY BLACK-EYE PEAS: US Grade A, Prewashed, 20 lb sack. Estimated	1000 0	0.0701	φ01.33 φ13.00	0.0700	ψ0-1.2-1	Ψττισο		ψ0.00	ψ0.00	Ψ0.00
monthly usage: 20 sacks.										
Brand Name: _JackRabbit										
Brand Name: _Jackrabbit	Cans 084	0.0405	Φ404 40 Φ1 6 0 5	0.0400	ф.402.20	<b>416.00</b>		Φ0.00	Φ0.00	фо оо
Packaging:1/20#900727	480 O	0.8425	\$404.40 \$16.85	0.8400	\$403.20	\$16.80		\$0.00	\$0.00	\$0.00
DRY LIMA BEANS, LARGE: US Grade A, Prewashed, 25lb sack. Estimated										
monthly usage: 20 sacks.										
Brand Name: _Jackrabbit (433-8505)	sun	1.1110								
Packaging: 1/20 lb	360 ඊ	1.1110	\$399.96 \$22.22	1.1500	\$414.00	\$23.00		\$0.00	\$0.00	\$0.00
MIXED VEGETABLES: Mixed vegetables to include carrots, lima or cut green										
beans, whole kernel corn and potatoes in slightly salted water. Minimum										
drained weight 66 ounces per number ten can. Case pack six (6) #10 cans.										
drained weight 66 ounces per number ten can. Case pack six (6) #10 cans. Estimated monthly usage: 45 cases.										
Brand Name:Stokely (180-3105)	us									
Packaging: 6/#10	270 Sub C	3.4883	\$941.84 \$20.93		\$0.00			\$0.00	\$0.00	\$0.00
POTATOES: Diced new potatoes, peeled, fancy, minimum 3/8 inch. Minimum										
drained weight 74 ounces per number ten can. Case pack six (6) #10 cans.										
☐ Estimated monthly usage: 10 cases.										
$\stackrel{\circ}{=}$ Brand Name: Hanover (155-1240)	IS									
Estimated monthly usage: 10 cases.  Brand Name:Hanover (155-1240)  Packaging: 6/#10	60 E	3.5500	\$213.00 \$21.30		\$0.00			\$0.00	\$0.00	\$0.00
POTATOES: Whole new potatoes, peeled, fancy 200 count or over. Minimum			Ψ-1100		\$0.50			T	\$3.00	40.00
drained weight 70 ounces per number ten can. Allen #13200 or equivalent. Case										
E pack six (6) #10 cans. Estimated monthly usage: 7 cases										
Brand Name: Stokely (205-2587)	×									
pack six (6) #10 cans. Estimated monthly usage: 7 cases.  Brand Name:Stokely (205-2587)  Packaging: 6/#10	Cans Cans	4.3833	\$184.10 \$26.30		\$0.00			\$0.00	\$0.00	\$0.00
rackaging: 0/#10	<del>4</del> 2  O	4.3033	φ107.10 φ20.30		\$0.00			φυ.υυ	φυ.υυ	φυ.υυ

	POTATOES: Cut yams in light syrup, U.S. Grade Fancy, 40-50 count.									
	:: Minimum drained weight 70 ounces per number ten can. Allen #08213 or									
	equivalent. Case pack six (6) #10 cans. Estimated monthly usage: 4 cases.									
	equivalent. Case pack six (6) #10 cans. Estimated monthly usage: 4 cases.  Brand Name:Bruce (214-0424)	st								
	Packaging: 6/#10	24 Cans	4.3333	\$104.00 \$26.00	4.5700	\$109.68	\$27.42	\$0.00	\$0.00	\$0.00
	TOMATOES: Whole, peeled, U.S. Choice. Case pack six (6) #10 cans.								·	
	Estimated monthly usage: 10 cases.									
les	Brand Name:Packer (224-5520)	2								
tab	Packaging: 6/#10	60 G	2.5867	\$155.20 \$15.52	2.6300	\$157.80	\$15.78	\$0.00	\$0.00	\$0.00
ge	TOMATO SAUCE: Medium concentration, U.S. Grade A, fancy. Case pack six			, ,		,	,			
<u>Κ</u>	(6) #10 cans. Estimated monthly usage: 25 cases.									
spc	Brand Name:Packer (230-4061)	SI								
Goods/Vegetables	Packaging: 6/#10	Cans C 051	3.0000	\$450.00 \$18.00	3.0000	\$450.00	\$18.00	\$0.00	\$0.00	\$0.00
E O	TOMATO PASTE: 6/#10 cans. Grade A. Hunts. Estimated monthly usage: 10					,	,			
Can	cases									
Ä	Brand Name: _STANISLAUS	8								
Section XII	Packaging:6/10	60 (3	5.0250	\$301.50 \$30.15	4 7300	\$283.80	\$28.40	4.5800 \$274.80 27.48	\$0.00	\$0.00
ctic	SWEET PEAS: Peas, water, sugar salt. Packaged #10 cans, six (6) cans to case.	00 0	5.0250	\$301.30 \$30.13	4.7300	Ψ203.00	Ψ20.40	4.3000 \$274.00 27.40	ψ0.00	ψ0.00
Se	Estimated monthly usage: 58 cases.									
	Estimated monthly usage: 36 cases.  Brand Name:Hart (194-7217)	o o								
	Packaging: 6/#10	348 5	4.0650	\$1,414.62 \$24.39		\$0.00		\$0.00	\$0.00	\$0.00
	PICKLE SPEARS: Packaged six (6) #10 cans. No glass or Plastic containers.	310	4.0020	Ψ1,414.02 Ψ24.57		Ψ0.00		φο.σσ	ψ0.00	ψ0.00
	Heinz #63830 or equivalent. Estimated monthly usage: 13 cases.									
	Brand Name: _Heinz (515-4000)									
	Packaging:6/#10	2								
	i ackaging willo	Cans 87	4.6300	\$361.14 \$27.78		\$0.00		\$0.00	\$0.00	\$0.00
	WHOLE JALAPENO PEPPERS: Package six (6) #10 cans per case. Estimated	, , ,				Ψ0.00		Ψ0.00	φσισσ	40.00
	monthly usage: 11 cases.									
	Brand Name: _ClemJaq									
	Packaging:6/#10875465									
	3   Tuckusing:0//10_0/3/03	S								
		66 5	3.4333	\$226.60 \$20.60	3.3410	\$220.51	\$20.05	\$0.00	\$0.00	\$0.00
	JELLIED CRANBERRY SAUCE: Cranberries, high fructose cornsyrup, water,			, 1.35 723.00				7 3 3 3	75.00	7
	cornsyrup. Case pack six (6) each #10 cans. Estimated yearly usage: 1 case.									
	В Brand Name:Ocean Spray (026-8508)									
	Packaging:	ısı								
		Cans	6.2167	\$37.30 \$37.30	6.6000	\$39.60	\$39.60	\$0.00	\$0.00	\$0.00
	PEAS AND CARROTS: #10 can. 6 cans per case. U.S. Grade A. Estimated									
	monthly usage: 35 cases.									
	Brand Name:Stokely (193-1013)	US								
	Packaging: 6/#10	210 Cans	4.6000	\$966.00 \$27.60		\$0.00		\$0.00	\$0.00	\$0.00

PORK AND BEANS: Fancy, Grade A. Case pack six (6) #10 cans. Estimated											
monthly usage: 45 cases.											
E Brand Name: _Hanover(151-1112)	St										
Packaging:6/#10	270 Car	3.4450	\$930.15 \$20.67	3.7800	\$1,020.60	\$22.68	\$0.00		\$0.00	\$0.00	)

CORN, WHOLE KERNEL: #10 can. 6 cans per case. U.S. Grade A. Estimated								
monthly usage: 2 cases.								
Brand Name: _Hart_(169-5014)								
	Cans	2 1500	\$2 <b>7</b> 00 \$10 00		Φ0 00	\$0.00	Ф0.00	¢0.00
Packaging: _6/#10  GREEN BEANS: #10 can. 6 cans per case. U.S. Grade A. Estimated monthly	12 0	3.1500	\$37.80 \$18.90		\$0.00	\$0.00	\$0.00	\$0.00
Brand Name: _Hart(144-7556)	Cases 01							
Packaging: _6/#10	10 స	3.3183	\$33.18 \$19.91		\$0.00	\$0.00	\$0.00	\$0.00
WHOLE PINTO BEANS: #10 can. 6 cans per case. U.S. Grade A. Estimated								
monthly usage: 10 cases.								
Brand Name: _Hanover(154-1457)	Cases 01							
Packaging: _6/#10	10 S	2.9883	\$29.88 \$17.93		\$0.00	\$0.00	\$0.00	\$0.00
PEACHES: Domestically grown and packed irregular sliced peaches packed in								
light syrup, yellow cling, natural juice, U.S. Grade C. Minimum drained weight								
65 ounces per number ten can. Case pack six (6) #10 cans. Delmonte or								
equivalent. Estimated monthly usage: 35 cases.								
Brand Name:Taste West(043-9992)	SI							
Packaging: _6/#10	210 Cans	4.2317	\$888.66 \$25.39		\$0.00	\$0.00	\$0.00	\$0.00
PEACHES: Domestically grown and packed Peach halves packed in light syrup,		=						
yellow clingstone, U.S. Grade C. Syrup density to be light. Minimum drained								
weight 65 ounces per number ten can. Case pack six (6) #10 cans. Delmonte or								
equivalent. Estimated monthly usage: 45 cases.								
Brand Name: _Seneca(041-7121)	S							
Packaging: _6/#10	270 Cans	4.5100	\$1,217.70 \$27.06		\$0.00	\$0.00	\$0.00	\$0.00
PEARS: Domestically grown and packed Pear halves. Frosty Acres.U.S. Grade		_	, -,····		7000	7 0000	7000	1 1 1 1 1 1
C. Syrup density to be light. Minimum drained weight 65 ounces per number								
ten can. Case pack six (6) #10 cans. Estimated monthly usage: 45 cases.								
ten can. Case pack six (6) #10 cans. Estimated monthly usage: 45 cases.  Brand Name: _Pembrook(048-0046)								
Packaging: _6/#10	270 Sub C	4.4450	φ1 200 15   φ2ζ <b>(5</b>		Φ0.00	¢0.00	фо оо	Φ0.00
ten can. Case pack six (6) #10 cans. Estimated monthly usage: 45 cases.  Brand Name: _Pembrook(048-0046) Packaging: _6/#10  APPLES: Domestic grown sliced apples fancy U.S. Grade A solid pack	2/0 0	4.4450	\$1,200.15 \$26.67		\$0.00	\$0.00	\$0.00	\$0.00
APPLES: Domestic grown sliced apples, fancy, U.S. Grade A, solid pack.								
	r.A							
cans. Estimated monthly usage: 11 cases. Brand Name packer :6/#10 984068	Cans	4.9567	\$327.14 \$29.74	4.5000	\$297.00 \$27.00	\$0.00	\$0.00	\$0.00
FRUIT COCKTAIL: Domestically packed U.S. Grade choice. Syrup density to	00 0	4.7307	φ321.14 φ29.14	4.5000	φ291.00 φ21.00	\$0.00	\$0.00	φυ.υυ
FRUIT COCKTAIL: Domestically packed U.S. Grade choice. Syrup density to be light. Minimum drained weight 71 ounces per number ten can. Case pack								
g six (6) #10 cans. Del Monte or Equivalent. Estimated monthly usage: 50 cases.								
Six (6) #10 cans. Del Monte or Equivalent. Estimated monthly usage: 50 cases.   Brand Name: _Duet(056-0278)								
Packaging: _6/#10	300 Cans	4 5022	φ1 424 00   φ20 <b>7</b> 0	4.0000	¢1 470 00   ¢20 40	<b>#0.00</b>	фо со	Ф0.00
1 words 1150/// 10	300 చ్ర	4.7833	\$1,434.99 \$28.70	4.9000	\$1,470.00 \$29.40	\$0.00	\$0.00	\$0.00

APPLESAUCE: Fancy, U.S. Grade A. Case pack six (6) #10 cans. Estimated								
monthly usage: 30 cases.								
Brand Name: _Packer228606	ns							
Packaging: 6/#10	180 ర్జ	3.7800	\$680.40 \$22.68	3.4400	\$619.20 \$20.64	\$0.00	\$0.00	\$0.00

	CHERRY PIE FILLING: 6/#10 cans. Lucky Leaf. Estimated monthly usage: 4											
	cases.											
	Brand Name: _WestCreek	Cans Cans										
	Packaging: 6/#10 228615	24 ပ	11.4017	\$273.64	\$68.41	11.0700	\$265.68	\$66.42	\$0.00	\$0.0	\$0.00	)
	PINEAPPLE CHUNKS: 6/10# cans. Estimated monthly usage: 5 cases.											
	Brand Name: _DOLE											
	Brand Name: _DOLE Packaging:6/10	30 Can	4.4017	\$132.05	\$26.41	4.6200	\$138.60	\$27.72	4.3500 \$130.50	<b>26.1</b> \$0.0	\$0.00	,
	PINEAPPLE SLICES: 6/10# cans. Estimated monthly usage: 5 cases.											
	Brand Name: _ <b>Packer</b> _( <b>056-6853</b> )											
	Packaging: _6/#10	Cans 06		****			***		***			
		30 0	4.4017	\$132.05	\$26.41	4.6200	\$138.60	\$27.72	\$0.00	\$0.0	0.00	)
	CHILI WITHOUT BEANS: Ready to use, containing a minimum of 40% fresh											
	ground beef, tomato paste, chili pepper, cumin, texturized vegetable protein and											
	⇒ spices, packaged six (6) pounds eleven (11) ounces per number ten can. Case											
	pack six (6) #10 cans, Chef-Mate or equivalent. Estimated monthly usage: 15 cases.											
	Brand Name:Chef Mate (315-1503)	Cans 06	0.7000	¢700.30	φ <b>53</b> (0		¢0.00		\$0.00	¢0.0	\$0.00	
	Packaging: 6/#10	90 0	8.7800	\$790.20	\$52.08		\$0.00		\$0.00	\$0.0	\$0.00	1
	CHUNK LIGHT TUNA (IN WATER): Tuna, water and salt, net weight 66-1/2											
LS	oz (4 lbs., 2-1/2 oz). Six (6) cans to case. Chicken of the Sea #7087 or											
the	equivalent. Estimated monthly usage: 15 cases.											
9	Brand Name: _ Celebrity (279-2315)	Cans 06										
ods	Packaging:6/66.5 oz	90 ටී	6.1333	\$552.00	\$36.80	7.1500	\$643.50	\$42.90	\$0.00	\$0.0	\$0.00	)
G	CREAM OF MUSHROOM SOUP: Water, mushrooms, vegetable oil (corn,											
an	cottonseed or partially hydrogenated soybean oil), wheat flour, cream, salt,											
/ C	cornstarch, dried dairy blend (whey, calcium caseinate), modified food starch,											
	whey, monosodium glutamate, soy protein isolate, natural flavoring, yeast											
n Z	extract and dehydrated garlic. Packaged 12/49.5 oz to a case. Estimated monthly											
Section XIV Can Goods/Others	usage: 10 cases.											
Se	Brand Name:Heinz (249-1504)	120 Cans	0.1150	<b>4252</b> 00	ф <b>ан</b> 26	2.2222	Φ <b>2</b> 60 46	ф <b>а</b> с с 1	40.00	40.0		
1	Packaging: 12/49.5 oz	120 Ö	3.1150	\$373.80	\$37.38	3.3200	\$398.40	\$39.84	\$0.00	\$0.0	0.00	)
	WHOLE BLACK OLIVES: 1/#10 can. Large Pitted Ripe Olives. Estimated											
	monthly usage: 4 cases.											
	Brand Name:Del dest	Cans 21	7 7700	фо <b>2 с</b> о	<b>0.16.64</b>	7.000	φορ σο	04614	Ф0.00	40.0	2 20 00	
	Packaging: 1/#10	12 0	7.7733	\$93.28	\$46.64	7.6900	\$92.28	\$46.14	\$0.00	\$0.0	0.00	'

	CREAM OF CHICKEN SOUP: 12/50oz. Cambell's. Estimated monthly usage:									
	4 cases. Brand Name: _ <b>Heinz</b> (248-7007)									
	Brand Name: _ <b>Heinz</b> (248-7007)	Cans 84								
	Packaging: 12/49.25 oz	48 ت 2	3.1425	\$150.84 \$37.71	3.3200	\$159.36	\$39.84	\$0.00	\$0.00	\$0.00
	PIONEER CHEDDAR CHEESE SAUCE MIX: 6/29 oz. per case. Estimated									
ses	monthly usage: 2 cases.									
šau	Brand Name: _Pioneer_(355-5554)	ns	5.8083							
Section XV Gravy Mix/Sauces	Packaging: <b>6/29oz</b>	12 రో	5.8083	\$69.70 \$34.85		\$0.00		\$0.00	\$0.00	\$0.00
M	PIONEER BROWN GRAVY: 6/13 oz. Pkg per case. Estimated monthly usage:									
avy	4 cases.	S.								
Gr	Brand Name:WestCrk999723	nce								
	Packaging:6/24oz	312 Onuces	0.1746	\$54.48 \$13.62	0.1650	\$51.48	\$23.76	\$0.00	\$0.00	\$0.00
n Ž	PIONEER CHICKEN GRAVY: 6/14 oz. Pkg per case. Estimated monthly									
ctio	usage: 4 cases.	S								
Se	Brand Name: _West Crk999718	nce								
	Packaging:6/24 oz	Onnces	0.2107	\$70.80 \$17.70	0.2000	\$67.20	\$28.80	\$0.00	\$0.00	\$0.00
	GELATIN: Cherry flavor, powder, concentrate, dessert, 25% citric acid, sodium									
	citrate, instruction for use on label. Case pack to be moisture proof package,									
	twelve (12), twenty four (24) ounce per case. Estimated monthly usage: 12 cases.									
	[2] cases.	es								
	Brand Name: _Jello_(482-2508)	3456 Onuces								45.55
	Packaging: 12/24 oz	3456	0.0865	\$298.94 \$24.91		\$0.00		\$0.00	\$0.00	\$0.00
	GELATIN: Lime flavor, powder, concentrate, dessert, 25% citric acid, sodium									
	citrate, instruction for use on label. Case pack to be moisture proof package,									
	twelve (12), twenty four (24) ounce per case. Estimated monthly usage: 12 cases.									
	Brand Name: _Jello_(482-7002)	3456 Onuces								
	Packaging: _12/24 oz	2456	0.0065	\$200.04 \$24.01		¢0.00		Ф0.00	\$0.00	\$0.00
	GELATIN: Orange flavor, powder, concentrate, dessert, 25% citric acid, sodium	3436 0	0.0865	\$298.94 \$24.91		\$0.00		\$0.00	\$0.00	\$0.00
	citrate, instruction for use on label. Case pack to be moisture proof package,									
	twelve (12), twenty four (24) ounce per case. Estimated monthly usage: 12									
	cases.									
	Brand Name: _Jello_(482-4009)	ces								
	Packaging: _12/24 oz	3456 Onuces	0.0865	\$298.94 \$24.91		\$0.00		\$0.00	\$0.00	\$0.00
:	GELATIN: Raspberry flavor, powder, concentrate, dessert, 25% citric acid,	3430 0	0.0005	Ψ2/0./4 Ψ24./1		Ψ0.00		ψ0.00	Ψ0.00	ψ0.00
	sodium citrate, instruction for use on label. Case pack to be moisture proof									
	nackage twelve (12) twenty four (24) ounce per case. Estimated monthly									
	usage: 12 cases.	-								
	Brand Name: _Jello_(481-9504)	seou								
	Packaging: _12/24 oz	3456 Onuces	0.0865	\$298.94 \$24.91		\$0.00		\$0.00	\$0.00	\$0.00

	GELATIN: Strawberry flavor, powder, concentrate, dessert, 25% citric acid, sodium citrate, instruction for use on label. Case pack to be moisture proof											
	package, twelve (12), twenty four (24) ounce per case. Estimated monthly usage: 12 cases.											
	Brand Name: _Jello_(481-6500)	3456 O										
	Packaging: 12/24 oz	3456	0.0865	\$298.94	\$24.91		\$0.00		\$0.00	\$0.00	\$0.00	
	CHOCOLATE FROSTING 1/40 lb. Estimated monthly usage: 2 buckets.			7_2 302 1	7-10-		7 0 1 0 1		7000	7,0100	7000	
		pu										
	Brand Name:Brill264819 Packaging: 1/23 lb	80 Pound	2.4820	\$198.56	\$37.23	1.5000	\$120.00	\$34.50	\$0.00	\$0.00	\$0.00	
ses	CAKE MIX TYPE 1: Spice, aroma and flavor of the finest spices to make one							_				
Mixes	(1) each 18" x 26" sheet cake per five (5) pounds. Case pack to be six (6) each											
se ]	Five (5) pounds. Estimated monthly usage: 20 cases.											
$\mathbb{Z}$	Brand Name: _Chelsea											
in/	Packaging:1/50#870761	_										
lat		600 Pound										
Section XVI Gelatin/Cake		600 වි	1.9250	\$1,155.00	\$57.75	0.7900	\$474.00	\$39.50	\$0.00	\$0.00	\$0.00	
$\mathbf{N}$	CAKE MIX TYPE 1: White, moist, to make one (1) each 18" x 26" sheet cake											
n X	per five (5) pound. Case pack to be six (6) each five (5) pound. Estimated											
tio	monthly usage: 17 cases.											
Sec	Brand Name:        Chelsea	-										
	Packaging:1/50#870760	510 John Od										
		510 💆	0.6537	\$333.39	\$19.61	0.6300	\$321.30	\$31.50	\$0.00	\$0.00	\$0.00	
	CAKE MIX TYPE 1: Yellow, moist, to make one (1) each 18" x 26" sheet cake											
	per five (5) pound. Case pack to be six (6) each five (5) pound. Estimated											
	monthly usage: 17 cases.											
	Brand Name: _Chelsea											
	Packaging: <u>1/50# 870759</u>	7										
		510 Punod	0.6525	Ф222 20	<b>010.61</b>	0.6200	<b>4221 20</b>	<b>421 50</b>	фо оо	фо.00	φο οο	
	CAVE MIV TVDE 1. Cilotan Marri I ac Decilio Estad Circulate Elec	210 5	0.6537	\$333.39	\$19.61	0.6300	\$321.30	\$31.50	\$0.00	\$0.00	\$0.00	
	CAKE MIX TYPE 1: Gilster Mary Lee Devils Food Chocolate Flavor, moist, to											
	make one (1) each 18" x 26" sheet cake per five (5) pound. Case pack to be six											
	(6) each five (5) pound. Estimated monthly usage: 12 cases.											
	Brand Name:Chelsea											
	Packaging: _1/50#_870698	pun										
		360	0.7333	\$263.99	\$22.00	0.7000	\$252.00	\$35.00	\$0.00	\$0.00	\$0.00	
		200 H	0.7555	Ψ=05.77	Ψ <b></b> 00	017000	Ψ=0=:00	Ψυυιου	ΨΟ.ΟΟ	ψ0.00	Ψ0.00	

PUDDING: Chocolate, instant, no-cooking, quick setting. Case pack of 12/28 oz. Estimated monthly usage: 10 cases.  Brand Name: FrstFoods Packaging:12/24z_948845										
	3360 5	0.1507	\$506.35 \$50.62	0.1000	\$336.00	\$28.80	\$0.00	\$0.00	)	\$0.00
PUDDING: Lemon, instant, no-cooking, quick setting. Case pack of 12/28 oz.  Estimated monthly usage: 10 cases.  Brand Name: _FrstFoods  Packaging:12/24z948857	3360 Onuces		\$0.00	0.1000	\$336.00	\$28.80	\$0.00	\$0.00		\$0.00
PUDDING: Vanilla, instant, no-cooking, quick setting. Case pack of 12/28 oz.  Estimated monthly usage: 17 cases.  Brand Name: _FrstFoods Packaging:12/24z954303	5712 O		40.00	0.200	φυσούσο	42300	ψ0100	φοιο		<b>40100</b>
	5712	0.1507	\$860.80 \$50.62	0.1000	\$571.20	\$28.80	\$0.00	\$0.00		\$0.00
CORN CHIPS (FRITOS): Corn, vegetable oil (contains one or more of the following: corn oil, peanut oil, soybean oil, sunflower oil or partially hydrogenated sunflower oil), and salt. Case pack of 6/16 oz. each 1 pound bags. Estimated monthly usage: 46 cases.  Brand Name:Fritos (377-7018)	46 Abound	1.4775	\$67.97  \$11.82	1.5500	\$71.30	\$12.40	\$0.00	\$0.00		\$0.00
Brand Name:Fritos (377-7018)	ponnd	1.9900	\$91.54  \$15.92	2.0500	\$94.30	\$16.40	\$0.00	\$0.00		\$0.00
COFFEE: Institutional blend, ground master blends, Royal York brands or equivalent, 39 oz can. Estimated monthly usage: 44 cans.  Brand Name: Folgers037312_  Packaging: _6/ 33.9 oz	1716 Onuces	0.6447	\$1,106.31 ######	0.3540	\$607.46	\$72.00	\$0.00	\$0.00		\$0.00
SHORTENING: Pure vegetable, high temperature. Case pack preferred twelve (12) each three (3) pound. Estimated monthly usage: 2 case.  Brand Name:Bunge054696 Packaging:1/50# cube	72 Bound	0.8730	\$62.86 \$43.65	0.8500	\$61.20	\$42.50	\$0.00	\$0.00		\$0.00

REYNOLDS FILM (PLASTIC WRAP): Eighteen (18) inches wide by two									
thousand (2,000) feet. Reynolds #914 or equivalent. Estimated monthly usage:									
Estimated monthly usage: 14 rolls.									
Brand Name: _ <b>Reynolds</b> (684-8399)	IIs								
Packaging: 1 roll	14 🕰	11.7600	\$164.64 \$11.76	12.7500	\$178.50	12.75	\$0.00	\$0.00	\$0.00

		REYNOLDS FOIL: Eighteen (18) inches by five hundred (500) feet, heavy duty.														
×	13:	Reynolds #624 or equivalent. Estimated monthly usage: 17 rolls.														
no	ten	Brand Name: _HFA (684-4014)		IIs												
ane	I	Packaging: 1 roll	17	Ro	21.0000	\$357.00	\$21.00	23.5000	\$399.50	\$23.50		\$0.00		\$0.00		\$0.00
ella		APRONS: Clear plastic, 24 X 42. Case pack of 100 each. Estimated monthly														
lisc	4:	usage: 225 cases.														
$\mathbb{Z}$	ten	Brand Name:Foodhandler (678-0001)		4												
XIX Miscellaneous	Ī	Packaging: 1/100 ct	22500	Eac	0.0340	\$765.00	\$3.40		\$0.00			\$0.00		\$0.00		\$0.00
n X		GLOVES: Disposable, non-medical, clear, plastic, large. 10 Boxes of 100 each.														
Section 3	5:	Estimated monthly usage: 95 boxes.														
Sec	em	Brand Name:Job Select (679-8425)		ا ر												
	It	Packaging: 10/100 ct	95000	acl	0.0060	\$570.00	\$6.00		\$0.00			\$0.00		\$0.00		\$0.00
		ZIPPER-LOCK SANDWICH BAGS: Resealable, plastic. 1000 Count box.	93000	Щ	0.0000	φ370.00	φυ.υυ		\$0.00			\$0.00		\$0.00		\$0.00
	9:	Estimated monthly usage: 36 boxes. Size 6 5/8in. x 5 7/8in.														
	sm	Brand Name:Foodhandler(939-0975)														
	Ite	Packaging: 1/1000ct	36000	acl	0.0164	\$590.40	\$16.38		\$0.00			\$0.00		\$0.00		\$0.00
		BROWN PAPER BAGS (LUNCH): 6 lb. 500 per package.	30000	' Ш	0.0104	φ390.40	φ10.50		\$0.00			φυ.υυ		\$0.00		\$0.00
		Brand Name: <b>Duro</b> (968-9225)														
	fter	Packaging: 500/6 lb	1E+05	acl	0.0184	\$2,208.00	\$0.20		\$0.00			\$0.00		\$0.00		\$0.00
		ICE CREAM CUPS: 1000/per package. Estimated monthly usage: 1pkg.	1L+03	Щ	0.0104	\$2,200.00	Ψ7.20		Ψ0.00			ψ0.00		φ0.00		ψ0.00
	$\sim$	Brand Name: _Wincup														
	tem	Packaging: _40/25ct_69627		Pkg		Φ0.00		40 = 600	<b>↑10 ₹</b> 6	<b>↑</b> 40 <b>=</b> €		40.00		40.00		40.00
			1	Ы		\$0.00		19.5600	\$19.56	\$19.56		\$0.00		\$0.00		\$0.00
		CREAM CHEESE: 3 lb. box. Philadelphia.Estimated monthly usage: 30 boxes.		_												
	em	Brand Name: _WestCreek		pur												
	It	Packaging:10/3#_999958	90	Pound	2.0177	\$181.59	\$60.53	1.9800	\$178.20	\$59.40	2.0800	\$187.20	62.4	\$0.00		\$0.00
qs		SHREDDED MOZZARELLA CHEESE: 5 lb. bag. 4 bags per case. Frosty														
<u>,</u>	1 2:	Acres. Estimated monthly usage: 4 cases.														
I F	ten	Brand Name: _Schreiber (864-1581)		pu												
ole	I	Packaging: 4/5 lb	80	Pound	2.6000	\$208.00	\$52.00	2.6400	\$211.20	\$52.80	2.6200	\$209.60	52.4	\$0.00		\$0.00
ప		SOUR CREAM: 5lb tub. 4 tubs per case. Daisy. Estimated monthly usage: 8		_		,			, , ,	,		,		,		, , , , ,
Section XX Cooler Foods	3:	cases.														
l u	em	Brand Name: _Daisy (352-9831)		pu												
ctic	It	Packaging: _4/5 lb	80	Pound	1.1000	\$88.00	\$22.00	1.2000	\$96.00	\$24.00		\$0.00		\$0.00		\$0.00
Se		YOGURT, YOPLAIT, LIGHT, STRAWBERRY BANANA: 48/4 oz. Estimated	- 00	-	1.1000	Ψ00.00	Ψ22.00	1.2000	Ψ20.00	Ψ21.00		ψ0.00		ψ0.00		ψ0.00
	4.	monthly usage: 5 cases.														
	em	Brand Name: _Yoplait_(817-0010)														
	Ité	Packaging: _48/4 oz	240	ack	0.4008	¢07 10	¢10.24	0.4600	\$110.40	\$22.08		¢0.00		\$0.00		\$0.00
		Cabbage, Green.	240	田田	0.4008	\$90.19	\$19.24	0.4600	\$110.40	\$22.08		\$0.00		\$0.00		\$0.00
	tem	Packaging: 50 LB Bag Cost/Lb.: \$		Pound												
	I	CUSI/LU φ	19	$\overline{P}_0$		\$0.00			\$0.00			\$0.00		\$0.00	0.3000	\$5.70 \$15.00

			OH 11 7002				
Cabbage, Red.							
Packaging: 25 LB Box	l p						
Packaging: 25 LB Box Cost/Lb.: \$	8 Bound	40.00	40.00	40.00			<b>**</b> ** <b>** **</b>
	8 G	\$0.00	\$0.00	\$0.00	\$0.00	0.3500	\$2.80 \$8.75
Carrots. Jumbo 980-1238							
Packaging: Loose 50 LB Bag							
Cost/Lb.: \$	8 pag	\$0.00	\$0.00	\$0.00	\$0.00	24 0000	\$192.00
Celery. 981-5150	2 0	\$0.00	\$0.00	φ0.00	φ0.00	24.0000	φ1/2.00
Packaging: 36 1's Box Cost/Case:	ي						
	20 82	\$0.00	\$0.00	\$0.00	\$0.00	15.7500	\$315.00
Cilantro. 981-5263							
Packaging: 1 lb hag	pı						
Packaging: 1 lb bag Cost/Lb: \$	6 Pound	00.00	Φ0.00	Ф0.00	Φ0.00	0.5000	Φ4.20
Α (03/12/14	6 <u>Q</u>	\$0.00	\$0.00	\$0.00	\$0.00	0.7000	\$4.20
Cucumbers. 981-5341							
Packaging: 54 count case	0						
Packaging: 54 count case Cost/Lb.: \$	s case	\$0.00	\$0.00	\$0.00	\$0.00	17.5000	\$140.00
Lettuce. 980-4998  Postsoring, Hayranned 24 1's		ψο.σσ	φο.σσ	Ψ0.00	ψ0.00	17.000	ΨΙΙΟΙΟΟ
Packaging: Unwrapped 24 1's							
Packaging: Unwrapped 24 1's Cost/Case: \$	9						
	60 case 06	\$0.00	\$0.00	\$0.00	\$0.00	16.0000	\$960.00
Lettuce. 982-0084 Packaging: SHREDDED OR CHOPPED 20-25 LB BOX							
Packaging: SHREDDED OR CHOPPED 20-25 LB BOX	pu						
Section   Sect	120 Pomod	\$0.00	\$0.00	\$0.00	\$0.00	0.0500	\$114.00 \$19.00
M-1	120 д	\$0.00	\$0.00	\$0.00	\$0.00	0.9500	\$114.00 \$19.00
Mushrooms. 980-7009							
Packaging: Inst Pak 10 LB Cost/Lb.: \$	l pu						
43   31   Cost/Lb.: \$	60 Bound	\$0.00	\$0.00	\$0.00	\$0.00	1.4000	\$84.00 \$14.00
Onions, Green. 981-5606		Ψ0.00	\$0.00	φοιοσ	Ψ0.00	20.000	φοιιου φ2ιιου
Onions, Green. 981-5606							
Packaging: 48 1's Box Cost/box: \$							
[5] = Cost/box. \$	4 <u>X</u>	\$0.00	\$0.00	\$0.00	\$0.00	16.0000	\$64.00
Packaging: SHREDDED OR CHOPPED 20-25 LB BOX Cost/Case: \$  Mushrooms. 980-7009 Packaging: Inst Pak 10 LB Cost/Lb.: \$  Onions, Green. 981-5606 Packaging: 48 1's Box Cost/box: \$  Onions, Jumbo Yellow. 980-8255 Packaging: 50 LB Box							
Packaging: 50 LB Bag	pı						
Packaging: 50 LB Bag Cost/Lb.: \$	Pound	\$0.00	\$0.00	00.00	\$0.00	0.2000	¢174 00 ¢14 50
	000 🚉	\$0.00	\$0.00	\$0.00	\$0.00	0.2900	\$174.00 \$14.50
Onions, Medium Red. 980-4052							
Packaging: 25 LB Bag Cost/Lb.: \$	pur						
≗  Cost/Lb.: \$	100 Bound	\$0.00	\$0.00	\$0.00	\$0.00	0.4500	\$45.00 \$11.25
		Ψ0.00	\$0.00	\$5.00	\$6.00	37.200	T 421.20

RFQ #2011-34 4.1.11 - 6.30.11 Lawson # 9532

	Peppers, Bell Med. 982-0200								
	Packaging: 25 LB Box Cost/Lb.: \$	200 Junod							
		200 💆		\$0.00	\$0.00	\$0.00	\$0.00	0.6000	\$120.00 \$15.00
	Pepper, Bell Red, Chopper/Packer 982-1059								
	Packaging: 15 LB Box Cost/Lb.: \$								
		4 <u>xo</u> q		\$0.00	\$0.00	\$0.00	\$0.00	12.0000	\$48.00
	Pepper, Hot Jalapeno. 980-9005								
	Packaging: 5 LB Box Cost/Lb.: \$	40 Aonud							
		40 S		\$0.00	\$0.00	\$0.00	\$0.00	0.4000	\$16.00 \$16.00
	Potato #2 Idaho Russet 981-0359								
	Packaging: 50 LB Box Cost/Lb.:	2900 Punod							
		2900 💆		\$0.00	\$0.00	\$0.00	\$0.00	0.3200	\$928.00 \$16.00
	ළ Potato #1 Idaho 100's. 981-0055								
	Packaging: 50 LB Box/Bag (Baking potatoes)	pui							
	□ Cost/Lb.:	200 Junod		\$0.00	\$0.00	\$0.00	\$0.00	0.3200	\$64.00 \$16.00
	Tomatoes 5x6, or <u>assorted</u> (which ever is cheaper)								
	Packaging: 25 LB Box Cost/Lb.: \$	pun							
	2 Cost/Lb.: \$	850 Pound	1.0000	\$850.00	\$25.00 \$0.00	\$0.00	\$0.00	0.7800	\$663.00 \$19.50
	Apples, Red DL. Packaging: 125 or 138 (40 LB Small) whichever is cheaper.								
	Apples, Red DL. Packaging: 125 or 138 (40 LB Small) whichever is cheaper.  Cost/Case: \$	48 case		\$0.00	\$0.00	\$0.00	\$0.00	22.5000	\$1,080.00
	Avocados, Haas.	- 3		,					, , , , , , , , , , , , , , , , , , , ,
	E Packaging: 35 1's								
,,	Packaging: 35 1's  Cost/Case: \$	8 case		\$0.00	\$0.00	\$0.00	\$0.00	46.0000	\$368.00
uits	Bananas, Stage 4.								
Fr	Packaging: 40 LB Box	pu							
esh	≗   Cost/Case: \$	1280 Pound		\$0.00	\$0.00	\$0.00	\$0.00	0.4500	\$576.00 \$18.00
Section XX Fresh Fruits	∴ Lemons.								
X	Packaging: 200 1's (or 235 1's)								
On O	2 Cost/Case: \$	case c		\$0.00	\$0.00	\$0.00	\$0.00	20.0000	\$60.00
čti	Limes.			,	7,000	1.770	7,333		
Š	Packaging: 200 1's (or 235 1's)								
	Packaging: 200 1's (or 235 1's) Cost/Case: \$	case 8		\$0.00	\$0.00	\$0.00	\$0.00	15.0000	\$45.00
	Oranges, 113 to 138 count whichever is cheaper.	3 3		ψ0.00	φυ.υυ	ψ0.00	ψ0.00	12.0000	Ψ10100
		р							
	Packaging: 38 LB Box Cost/Case: \$	1520 Puno 1520 d		<b>\$0.00</b>	Ø0.00	00.00	Φ0.00	0.4000	\$600 00 \$16 00
L		1320 മ്		\$0.00	\$0.00	\$0.00	\$0.00	0.4000	\$608.00 \$16.00